Question Paper Preview

Notations :
1.Options shown in green color and with %" icon are correct.

2.0Options shown in red color and with * icon are incorrect.

Subject Name : Fee Collector Sub Inspector Auction Recorder
Creation Date : 2021-11-24 15:36:02
Duration : 120

Total Marks : 200

Display Marks: Yes

Share Answer Key With Delivery Engine : No

Actual Answer Key : Yes

Calculator : None

Magnifying Glass Required? : No

Ruler Required? : No

Eraser Required? : No

Scratch Pad Required? : No

Rough Sketch/Notepad Required? : No

Protractor Required? : No

Show Watermark on Console? : Yes

Highlighter : No

Auto Save on Console? ( SA type of questions will be always auto saved ) : No

General Abilityl

Group Number : 1
Group Id : 96794741
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Abilityl

Section Id : 96794741
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794749
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 967947809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the following series:
_b _cbc_acbcb cbeb cb

Options :

1. ¥ cabaa
2. * cbaaa
3. % caaba

4. % cbacb

Question Number : 1 Question Id : 967947809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
BEINICRECRICAR RUCES

_b _cbc_acbeb _cbeb cb

Options :

1. ¥ cabaa

2. * cbaaa

3. % caaba

4. % cbacb

Question Number : 2 Question Id : 967947810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the following series:
WD, SH, OL, ?

Options :
1. *JQ
2. ¥ KP
3. % PK
4. % LM

Question Number : 2 Question Id : 967947810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad e &1 -6

WD, SH, OL, ?

Options :

1. #1Q

2. ¥ KP

3. % PK

4. % LM

Question Number : 3 Question Id : 967947811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Arrange the given words in the sequence in which they occur in the dictionary.
1. Gibbon

2. Giddy

3. Giant

4. Giggle

5. Gimmick

Options :

1. % 53,2,1,4
2.% 1,2,5,4,3
3.%3,1,2,5,4
4.943,1,2,4,5

Question Number : 3 Question Id : 967947811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 7T Tea] BT 39 HH | AT < Ford o5 H H d Xeqdh I H 51 & |

1. Gibbon

2. Giddy

3. Giant

4. Giggle

5. Gimmick

Options :

1. % 53,2,1,4
2. % 1,2,5,4,3
3.%3,1,2,5,4
4.93,1,2,4,5

Question Number : 4 Question Id : 967947812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, select the term that can be prefixed by all the letters given below:
St , Br , S ) L 5 Gr 5 H




Options :
1. * rad
2. % ort
3. % ear
4. and

Question Number : 4 Question Id : 967947812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T i edl A @ 39 Ue o1 Ig= o1 o M i feu 7w g+ 31eR o gohd &

St ,Br ,S ,L ,Gr ,H
Options :
1. * rad

2. % ort

3. % ear
4. % and

Question Number : 5 Question Id : 967947813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. * Enlarge
2. % Expand
3. # Increase
4.+ Unite

Question Number : 5 Question Id : 967947813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 6 Question Id : 967947814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Bharat Ratna
2. % Padmashree
3. ¥ Nobel Prize
4. % Jnanpith

Question Number : 6 Question Id : 967947814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faedl 7 @ & T g 9% I IHM &1 g, T [Ahed 370 diF &1 a8 81 8| 39 ey o1 T &3 off 370 T 3T g |
Options :

1. % YRdd

2. % Tl

3. ¢ Fidd REPR

4. % U

Question Number : 7 Question Id : 967947815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.



Options :

1. * KNRW
2. % ADHM
3. ¥ MPSV
4. % ZCGL

Question Number : 7 Question Id : 967947815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faeedl 7 @ &t Afa % T a8 1 gTifes, T fAdhed 370 9 o1 g 781 81 39 fdched o1 T &3 oY 370 T 3(cT g |
Options :

1. ¥ KNRW

2. % ADHM

3. ¥ MPSV

4. % ZCGL

Question Number : 8 Question Id : 967947816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. * Bulb : Filament
2. * Pencil : Lead
3. % Leaf: Flower
4. % Fruit : Seed

Question Number : 8 Question Id : 967947816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T Riwedl 7 @ & te Rfyd % A TuE g1 gTlTP, T faed 3 diF o oRE el ¢ | 39 fdhcd o1 I8 &Y off 30 ¥ 3T B

Options :



1. % §cd : dq (hamde)
2. % Ufye . i
S.Q/CIT‘ﬁ:U‘(WI

4. % B : |9l

Question Number : 9 Question Id : 967947817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Child : Mother :: Calf : ?

Options :
1. ¥ Cow
2. % Lion
3. # Bear
4. % Cat

Question Number : 9 Question Id : 967947817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [dohed &1 999 B S AR U I I UDHR Y A& fUd ¢ o PR ¥ gkl UE Ugd U & Hafdd g
ddl : HIdT :: dS Sl : ?

Options :

1. ¥ 1Y

2. % TR

3. % HIq

4. % foedl

Question Number : 10 Question Id : 967947818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Cup : Crockery :: Pen : ?



Options :

1. * Paper

2. * Book

3. % Stationery
4. % Ink

Question Number : 10 Question Id : 967947818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S o T 72 3 Sl e U U I TohR § Heiferd & For IR § a1 U Ul Ug ¥ Welfd &
hU : hlhr]:: helH : ?

Options :

1. % DN

2. % YIdp

3. ¢ OG-l

4. % I8l

Question Number : 11 Question Id : 967947819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
ZXDF : CUGC :: LNUW : ?

Options :

1. ® FBLD
2. % OKXT
3. % FHFJ

4. % ABLD

Question Number : 11 Question Id : 967947819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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ZXDF : CUGC :: LNUW : ?
Options :

1. ¥ FBLD

2. ¥ OKXT

3. ¥ FHFJ

4. % ABLD

Question Number : 12 Question Id : 967947820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
DEVIL : LIVED :: STRAP : ?

Options :

1. % PRATS
2. ¥ PARTS
3. ¥ TRAPS
4. % SPART

Question Number : 12 Question Id : 967947820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAHed BT 997 B S iR UG ¥ 341 UHR ¥ Yafdd g fo JR ¥ IR UG Ugd Ug ¥ Hafed g
DEVIL : LIVED :: STRAP : ?

Options :

1. % PRATS
2. ¥ PARTS
3. ¥ TRAPS
4. % SPART

Question Number : 13 Question Id : 967947821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In a certain code, black means white, white means purple, purple means green, green means blue, blue means indigo and indigo means mauve.
What is the color of grass?

Options :
1. * green
2. ¥ blue
3. ®* white

4. * mauve

Question Number : 13 Question Id : 967947821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 8]

2. ¢ Yl

3. % ¥hqg

4. % O

Question Number : 14 Question Id : 967947822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Q =18, and MOON = 61 then GALAXY =?
Options :

1. * 86

2. % 78

3.4 76

4. % 74

Question Number : 14 Question Id : 967947822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gfe Q = 18, 3R MOON = 61 @ GALAXY =?
Options :

1. % 86

2. % 78

3.v 76

4. % 74

Question Number : 15 Question Id : 967947823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language,

3a, 2b, 7c means art is eternal

7¢c, 9a, 8b, 3a means beauty is not eternal
4d, 2b, 8b means art does not

What is the code for beauty?

Options :
1. # 3a
2. % Tc
3. % 8b
4. 9a

Question Number : 15 Question Id : 967947823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Toh g Big W H,

3a, 2b, 7¢c DI 3{&% art is eternal

7¢c, 9a, 8b, 3a P G{Qf% beauty is not eternal
4d, 2b, 8b hI G{ﬁ% art does not

beauty & 1%1? CARK ] %‘?

Options :

1. #® 3a

2. % Tc

3. % 8b



4. % 9a

Question Number : 16 Question Id : 967947824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If TO = 19, HER = 50, then MORE = ?
Options :

1. ¥ 57

2. % 63

3. % 52

4. % 49

Question Number : 16 Question Id : 967947824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gf& TO = 19, HER = 50, dl MORE = ?
Options :

1. ¥ 57

2. % 63

3. % 52

4. % 49

Question Number : 17 Question Id : 967947825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Introducing a man Naren said, "His wife is the only daughter of my wife". How is Naren related to the man?
Options :

1. # Father

2. % Maternal Grandfather

3. ¥ Father-in-law

4. % Son



Question Number : 17 Question Id : 967947825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % foar

2. % Al

3. ¥ YR

4. % U

Question Number : 18 Question Id : 967947826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Atul is heavier than Raju who is lighter than Barun. Mahesh is lighter than Atul but heavier than Barun. Suresh and Mohan are heavier than Atul.
Who is the lightest?

Options :

1. # Barun
2. % Atul

3. % Mahesh
4. ¥ Raju

Question Number : 18 Question Id : 967947826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31, I YR B S 931 1 Goohl ¢ | Ho S, 3 I ol § Aich] 99 I URT 8 | YR 3R Hg 3dd I YR § | T bl DI 62

Options :
1. % do
2. % 3{dd
3. % HgWl
4. ¥ 9




Question Number : 19 Question Id : 967947827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mohan is taller than Sahil, who is shorter than Rohan. Vijay is taller than Arun. Ajay is shorter than Vipul. Neither Vijay nor Vipul is the tallest.
If Rohan is standing second in decreasing height order, who will be at the center in the group of these seven people?

Options :
1. # Ajay
2. % Vijay or Vipul
3. % Arun
4. % Sahil or Ajay

Question Number : 19 Question Id : 967947827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 3g

2. « fawrg a1 faga

3. % 3371

4, % g 1 31

Question Number : 20 Question Id : 967947828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A + B means A is the mother of B;

A + B means A is the brother B;

A — B means A is the sister of B and

A x B means A is the son of B,

Which of the following means C is the sister of D?
Options :

1.¥"C-P=+D

2.%P+D=+C



3. DxP-C
4. * D-C

Question Number : 20 Question Id : 967947828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥C-P=+D
2.% P+D~+C
3.#DxP-C
4. % D-C
General Ability2
Group Number : 2
Group Id : 96794742
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Ability2

Section Id : 96794742



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794750
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 967947829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : Some aeroplanes are vehicles.
Statement 2 : Some vehicles are cars.

Conclusion I : Some aeroplanes are cars.
Conclusion II : No aeroplane is a car.

Options :

1. # Only conclusion I follow

2. % Only conclusion II follow

3. % Both conclusion I and II follow

4. % Either conclusion I or II follow

Question Number : 21 Question Id : 967947829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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HYT | : $S gdTs SIgIS A6 o
HUT2 : FT A PR B

fspy 1 : $ gaTS S8 R & |

frerY 11: P gaTS oIe™ BR TEI B
Options :

1. # $Had [T5HY [ 3ITRV Hl &

2. % Had (BN 11 SR Hal &

3. % fspe 1 3R 11 ST SFERUT HRdl &
4. Il FTSHY 1 T 11 S8R0 Bl §

Question Number : 22 Question Id : 967947830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question a statement is given, followed by three courses of actions, I, Il and III. You have to consider the statements to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given courses of action, if any, follows from the given
statements.

Statement: The authorities have been alerted in the districts experiencing floods triggered by incessant rains.

Course of Action I: Relief funds should be arranged for people trapped in flood affected areas.
Course of Action II: Supply of food items should be arranged.
Course of Action III: Sufficient medical facilities should be arranged.

Options :

1. # Only II follow
2. % None follow
3. % All follows

4. % Only I follow

Question Number : 22 Question Id : 967947830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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HRATS HI HH 111: AT Fafdee gfaursii & gawi &1 ST a1eu|

Options :

1. % Had 11 IR0 BT §
2. % B3 TR Ta] DRl
3. ¢ G} STERUI R §

4. % Had [ IR0 HAl §

Question Number : 23 Question Id : 967947831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question three statements are given, followed by four conclusions, I, II, III and I'V. You have to consider the statements to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement 1: All cups are glass.
Statement 2: Some cups are plates.
Statement 3: Some plates are utensils.

Conclusion I: Some utensils are cups.
Conclusion II: No utensil is a cup.
Conclusion III: Some plates are glass.
Conclusion IV: No plate is a glass.

Options :

1. #* Both conclusion I and II follow

2. * Either conclusion II and III follow
3. % Only conclusion III follow

4. % Both conclusion I and IV follow

Question Number : 23 Question Id : 967947831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FIShY 1 3R 11 QT SIRRUT H_ell §

2. % 7 F5HY 11 SR AT 111 SFIER0T HRell §
3. ¢ Had By 111 3R Sl §

4. % BV 1 3R 1V G SRR HRd &

Question Number : 24 Question Id : 967947832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two assumptions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given assumptions, if any, follows from the given statement.

Statement: Evening walks are beneficial for health.

Assumptions: I : All healthy people go for evening walks.
Assumptions II : Morning walks are harmful.

Options :

1. * Only assumption I follows
2. * Only assumption II follows
3. # Both I and II follows

4. ¥ Neither I nor II follows



Question Number : 24 Question Id : 967947832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § Toh HU fear a1 8, o 91 & YRUME [ 3R 11 &Y 718 § | 31U 3 Y1 ! I AT 8, H 8 I8 JrHrad: I1d o 3 fie
Ui 811 3TU! I8 fFufg o= @ fop < 1 aRomali & A o1 @, afe 12 8, A e MU bl § § erERu Bl B

HY: T B AR WY & 1T NP RS gl 2

&R [ G+t TR N U B AW &1 B
YRUT 11 : g B! IR IHDHR® il g
Options :

1. # $Had YR [ ST B &

2. % HAd YR 11 IRV Bl §

3. % 3R 11 ST SFIER0I el §

4.+ 1 3R A 8 11 R0 cll §

Question Number : 25 Question Id : 967947833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % 5742
2. % 2121
3. % 3388
4. % 9864

Question Number : 25 Question Id : 967947833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 5742




2. % 2121
3. ¥ 3388
4. %= 9864

Question Number : 26 Question Id : 967947834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If — stands for X, + stands for +, + stands for + and X stands for —, what will be the answer of the given equation?

12-2+6x20+18=7
Options :

1. ® 50

2. % 43

3.% 19

4. ¥ 2

Question Number : 26 Question Id : 967947834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gie - BT af g x , - BT AL B +, + BT 3RF B + 3R x BT 3d § — |, A ST U Teiepur 571 IR T BRI

12-2+6x20+18=7
Options :

1. ® 50

2. % 43

3.% 19

4. 2

Question Number : 27 Question Id : 967947835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.



Options :
1. % 1728
2. % 1331
3.4 100
4. % 1000

Question Number : 27 Question Id : 967947835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faeedl 7 @ & e g % T gaM &1 gTifes, T fAdhed 370 A9 &1 g 181 &1 39 fdched &1 T &3 oY 370 T 3(ciT g |
Options :

1. = 1728

2. % 1331

3.4 100

4. % 1000

Question Number : 28 Question Id : 967947836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If '+' means multiplication, '—' means division, 'x' means subtraction and '+' means addition, then what is the value of 2 + 3 + 2 x 15 —3?
Options :

1. % =8

2. % 11

3.% 24

4. 943

Question Number : 28 Question Id : 967947836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe '+ 7 372 g T[0T, — BT 3 § YT, ' 7 37f g TeTd 3R+ BT i g oS, W2 +3 +2 x 15— 3 BT HA R 2
Options :

l. ®* -8



2.% 11
3.% 24
4.9 3

Question Number : 29 Question Id : 967947837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagram best represent the relationship between Sportsmen, Footballers and Goalkeepers?
Options :

©

Question Number : 29 Question Id : 967947837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofefad 7 3 19 91 99 3R RIS, Bealer! 3R MASIURI & o & Yo Pl Gad 3] aIdl g2

Options :

4.



#®

b
#®

@0@@

.A
4

Question Number : 30 Question Id : 967947838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagram best represent the relationship between Honest, Smart, Rich?
Options :

®

<

@b%



(Q)C

Question Number : 30 Question Id : 967947838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRoffad & ¥ o9 97 39 3IRW SHMGR, TIE, 3HR & §ig & oY ol oo 33T Sidl 82

Options :

©

N{o)le

Question Number : 31 Question Id : 967947839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given Venn diagram shows flowers, pink and red. How many flowers are red?



Pink
13
i /15
— Flowers
11 / 19 12

VARETIR =

Options :
1. % 4
2.9 23
3.% 19
4, % 39

Question Number : 31 Question Id : 967947839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7T 91 3TRE T, T[S 3R AT &1 &1l ¢ | fova odt a1t 82




Options :
1. % 4
2.9 23
3.% 19
4, % 39

Question Number : 32 Question Id : 967947840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given Venn diagram shows families having T.V., scooter, washing machine and computer. Find the number of families having all the four
things mentioned.

Families having
TV 18 30 Families having

110 ﬂt\ 50 Washing Machine
\»/

20 | qp 15 15/

Families having
Scooter

—— Families having

40
25 Computer

Options :



1. ¥ 20
2. % 100
3. % 35
4. % 40

Question Number : 32 Question Id : 967947840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gw%mmmﬁm%m%wﬁ,w, TS A 3R HugeR 1 aftfa gt TR S a1l aRaRT @t T 3
|

Options :
1. ¥ 20
2. % 100
3. % 35
4. % 40

Question Number : 33 Question Id : 967947841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest. (Hint: Visualize how these letters can be seen in a mirror if the mirror was kept to the right side of the letters.)

Options :



1. ® C
2. % J
3. % S
4.9 U

Question Number : 33 Question Id : 967947841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faeul 7 @ & T AT 9% I gHM &1 gTiies, T [Ahed 370 diF &1 a8 81 8| 39 ey o1 T B off 370 T 3T g |
(Tohd: BT BT o 37 31&RI DT ST H Y 3T o Fobdl & Al U DT 31&RT P aTS 3R AT AT 8T 1)

Options :

C




U

Question Number : 34 Question Id : 967947842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
L]
®

1. # =
AN

2. %

FANFAN

[\
3.¢

* &
4, ® I:

Question Number : 34 Question Id : 967947842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T imedl # @ & T Rfyd a5 A TUE &1 gTlTP, Tk faed 3 diF o1 oRE el ¢ | 39 fdhcd o1 I8 &Y off 37 ¥ 3T 5

Options :



Question Number : 35 Question Id : 967947843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

e

o

e

R

e

LR

F W N

L

R N

Ca T W

L W

L T

T

L i

L

Options :

s

S

e

L T e T Y

1. ¥




Question Number : 35 Question Id : 967947843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafRed § § & O SR 3pfa Uy B G DI T Pl 82

T et Nl

L W

R

L

L

Yo T T

A st W

Mt et N

b

L T W, W

N

L T

T

e

L S

Options :

e

S

St e N

Ea N N

1. ¢




Question Number : 36 Question Id : 967947844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

Options :




3.¢¥

Question Number : 36 Question Id : 967947844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e § § & O SR 3pfd Uy B SR DI T Pl 82

Options :




3.¢¥

Question Number : 37 Question Id : 967947845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

A
Options :

T




2.¥

Question Number : 37 Question Id : 967947845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T U 1 T AB TR IQT 1T 8, Al IR Mpfa & D W ) 77 snepfa o) w8t sfa g2

Options :



e
X
L=
e

Question Number : 38 Question Id : 967947846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four different positions of the same dice are shown below. Find the number on the face opposite the face showing 4.



PPPE

Options :
1. %6
2.% 5
3.% 2
4.+ 1

Question Number : 38 Question Id : 967947846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U &) IR 1 IR fafire fRufaat - <l 78 §1 4 <2 910l Beie & faudid arel e IR R T Jd B |

PPPE

Options :
1. %6
2.% 5
3.% 2
4.+ 1

Question Number : 39 Question Id : 967947847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many maximum number of squares are there in the given question figure?



Options :
1. %7
2. % 8
3.9
4. % 10

Question Number : 39 Question Id : 967947847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U Uy Spfa | siftrdan fasan vl g2

Options :
1. %7
2. % 8
3.9
4. % 10

Question Number : 40 Question Id : 967947848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A paper is folded and cut as shown in the given figures. Select from the options how will it appear when opened.

Options :
C_ 0O
050 o0
o0
%0 %
1. ®
o_0
05050
o0
020 %
2. %
0.0
05050
oo
00 %
3. ¢
o o
QGQGD
o0 00
4 % 100 0

Question Number : 40 Question Id : 967947848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o A T 7T 3[R T BT 1 AT 3R TeT T B | et § & 39 f3ebed & a0 3 St Wien W H41 fears |



Options :
o_ ©
050 50
oDO
o0
L “ GD o DD
0_0
0,050
00
o_.0
5 » ODO DD
0.0
05,0450
oo
0,0
O 0 _0O
3 |00
8 o
20 OO0
oo 00
4 % |00 o
General Awarenessl1
Group Number : 3
Group Id : 96794743
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awarenessl

Section Id : 96794743
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794751
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 967947849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Zakir Hussain plays which musical instrument?
Options :

1. * Mridangam

2. % Tabla

3. * Dholak

4. % Drum

Question Number : 41 Question Id : 967947849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



SR g+ 1= T are] T FolTell 62
Options :

1. % 7T

2. % dddl

3. % GIdd

4. % gH

Question Number : 42 Question Id : 967947850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sudha Chandran is associated with which dance form?
Options :

1. # Kathak

2. # Kuchipudi

3. ¥ Bharatanatyam

4. #® Qdissi

Question Number : 42 Question Id : 967947850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T g5 o e T et A o<t 72
Options :

1. ¥ dYDh

2. % Pigg

3. ¥ HRAATRAH

4. % INfSr

Question Number : 43 Question Id : 967947851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ghumura is the folk dance of which state of India?



Options :

1. # Kerala

2. # Karnataka
3. # Tamil Nadu
4. ¥ QOdisha

Question Number : 43 Question Id : 967947851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IRT, YR & (o X0 &1 Al I /2
Options :

1. % B

2. % PICH

3. % QA g

4. S

Question Number : 44 Question Id : 967947852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nongkrem is the folk dance of which state?
Options :

1. % Sikkim

2. % Manipur

3. ® Assam

4. ¥ Meghalaya

Question Number : 44 Question Id : 967947852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AiTehH, fohre I HT AP T 82
Options :




1. # f4fewa
2. % OOQR
3. % 3gH

4. ¥ HUTAT

Question Number : 45 Question Id : 967947853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Minimum Support Price (MSP) was introduced in India in

Options :

1. # 1967-68
2. % 1968-69
3. % 1966-67
4. % 1965-66

Question Number : 45 Question Id : 967947853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TATH JAYE I HRA | o U= foa T |
Options :

1. % 1967-68

2. % 1968-69

3. ¥ 1966-67

4. % 1965-66

Question Number : 46 Question Id : 967947854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the body that regulates the issue of Bank notes and maintains a reserve with a view to securing monetary stability in India and generally to
operate the currency and credit system of the country to its advantage.

Options :
1. # Securities and Exchange Board of India (SEBI)



2. # Ministry of Finance
3. % State Bank of India (SBI)
4. ¥ Reserve Bank of India (RBI)

Question Number : 46 Question Id : 967947854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T &1 711 18T S URd H Hifsds fRRAT BTRIA B 3R ITHRIG: 39+ AT & AU /1 &1 GaT 3R HfSc Yol & Tarfard &
& forg §& el & i &1 Fafd w1 | iR YR sFe Tad g

Options :

1. ® yRdig gfayfa iR fafma &1 (SEBI)
2. % fod gAiay

3. % YR ®e §& (SBI)

4. ¢ YRdg fv1d §F (RBI)

Question Number : 47 Question Id : 967947855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Taxation and government spending are two key tools of
Options :

1. ¥ Fiscal Policy

2. # Budget

3. % Gross National Product

4. % Gross Domestic Product

Question Number : 47 Question Id : 967947855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FRIYH 3R BRI T & &I TG e g |
Options :

1. ¢ JASTH N i



2. % §vic

3. % Gobel AP IdTG

4. % bl T IAIG

Question Number : 48 Question Id : 967947856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Loans taken by the government from the public, borrowings from foreign countries and institutes, and borrowings from the Reserve Bank of
India are examples of

Options :

1. % Capital Payments
2. ¥ Capital Receipts
3. # Revenue Receipts

4. ¥ Revenue Payments

Question Number : 48 Question Id : 967947856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRBR GRT a1 I forw U o7, e ik TR A IUR, 3R URAT Reid db T SUR P ISR 5|
Options :

1. % Goll Y

2. Yol gTiaeri

3. % ToRd UIfeer

4, % ST YT

Question Number : 49 Question Id : 967947857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
refers to a contract between two parties which derives its value/price from an underlying asset.
Options :
1. # Government Securities
2. # Equity Shares



3. % Derivatives
4. % Bonds

Question Number : 49 Question Id : 967947857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 uefl & ofe Ue SgeY ! Yafid ol § o sfdf-fed aRTui & SHHT Jed/d Hd U HRal g

Options :
1. % ORI gfayfadi
2. % B WR

3. ¥ dIGA
4. % 99

Question Number : 50 Question Id : 967947858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following substances do not show anomalous expansion?
Options :

1. # Phosphorus

2. ¥ Mercury

3. ¥ Water

4. % Silica

Question Number : 50 Question Id : 967947858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofed & @ S a1 var fawm fawar =&t femara &2
Options :

1. ¥ BRBRY

2. ¥ URT

3. % 9



4. % THferpT

Question Number : 51 Question Id : 967947859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a fermented preparation of rice and black gram?
Options :

1. % Dosa

2. % Uthappam

3. % Idli

4. ¢ Khichdi

Question Number : 51 Question Id : 967947859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafaRad o 9 &F aad 3R HIal 94 &1 fbftad dar! g1 82
Options :

1. % S

2. % 3dUH

3. % 3gal

4. ¢ =St

Question Number : 52 Question Id : 967947860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is rapid increase in the population of algae in an aquatic system called?
Options :

1. # Eutrophication

2. % Biomagnification

3. # Thermal pollution

4. ¥ Algal Bloom



Question Number : 52 Question Id : 967947860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sel1g =1 § Qare ) G # g g Y o el ST 32
Options :

1. % Uy

2. % g e (@raadifeeeE)

Question Number : 53 Question Id : 967947861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is an approach to sanitation provision which safely reuses excreta in agriculture.

Options :

1. ¥ Ecological sanitation

2. # Solid waste management
3. % Sanitary landfill

4. % Circular sanitation

Question Number : 53 Question Id : 967947861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B U & ol SUFTH § ot Y § A o1 RIE| U 9 H: ST SRl |
Options :
1. ¢ UIRIRYfclh Ta=adl
2. % 31 {URY YaieH
3. % WS WRIG8
4. % el T=ddl



Question Number : 54 Question Id : 967947862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How does Chlamydomonas reproduce?
Options :

1. # Fragmentation

2. % Budding

3. % Spore formation

4. % QGrafting

Question Number : 54 Question Id : 967947862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2N ¢

FAHTSSIHIATY B TSl Bl 82

Options :

1. % fogea

2. # Fqifad (@fEm)

3. ¢ SIS &

4, % HoH FIYET

Question Number : 55 Question Id : 967947863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country is not a South Asian Association for Regional Cooperation (SAARC) member?
Options :

1. # Pakistan

2. % Myanmar

3. % Bhutan

4. ¥ Nepal

Question Number : 55 Question Id : 967947863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

DI 1 <2 <féror TS &t GganT WIeH (W) &1 Yo el 82

Options :

1. % UTfhd™
2. % JHR
3. % Y

4. % AUTd

Question Number : 56 Question Id : 967947864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The least populated state of India according to 2011 census is
Options :

1. # Tripura
2. ¥ Sikkim
3. % Lakshadweep
4. ¥ Maharashtra

Question Number : 56 Question Id : 967947864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2011 B SIIUFT & SFHR YR BT T HH SHYSAT aTel o gl
Options :

1 * Bg

2. ¢ Rfden

3. % qefgiy

4. % TERIY

Question Number : 57 Question Id : 967947865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Name the highest peak in Maharashtra.
Options :

1. ¥ Kalsubai Shikhar

2. % Salher

3. % Dhodap

4, % Taramati

Question Number : 57 Question Id : 967947865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HERIY B! T Sl A1t BT A Iz
Options :

1. ¥ HAYETs RRER

2. % GlegR

3. % Y18y

4. % qRTHC

Question Number : 58 Question Id : 967947866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The deepest river in the world is

Options :

1. % River Amazon

2. % River Nile

3. % River Brahmaputra
4. ¥ River Congo

Question Number : 58 Question Id : 967947866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fay Bt o et gl

Options :



1. % 3ASH AT
2. % a7t

3. % FEIYA It
4. ¢ BN A}

Question Number : 59 Question Id : 967947867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mahatma Gandhi was assassinated by
Options :

1. # Gopal Godse

2. ¥ Nathuram Godse

3. % Vinayak Godse

4. # Sindhu Tai Godse

Question Number : 59 Question Id : 967947867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRTHT e 1 g ENEARIERI
Options :

1. ® T ey

2. ¢ AR MSY

3. % famae e

4. % Ty I8 My

Question Number : 60 Question Id : 967947868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first session of the Indian National Congress was held in
Options :

1. % Nasik




2. % Pune
3. ¥ Mumbai
4. % Mysore

Question Number : 60 Question Id : 967947868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR TP B BT Ugdl 9 # 3raifor febam T
Options :

1. % 1R

2. % qOf

3. ¥ 4%

4. % IR

General Awareness2

Group Number : 4

Group Id : 96794744
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness2
Section Id : 96794744

Section Number : 1
Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794752
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 967947869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hindustan Socialist Republican Association was founded in which year?
Options :

1. % 1918

2.9 1928

3. % 1938

4. % 1921

Question Number : 61 Question Id : 967947869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fergea Rrfene Rufsdter-T TAIRIURM &t T oo av # g3 o
Options :

1. % 1918

2.9 1928

3. % 1938

4. % 1921

Question Number : 62 Question Id : 967947870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



On which occasion did the Jallianwala Bagh Massacre take place?
Options :

1. ¥ Baisakhi

2. ® Lohri

3. # Basant Panchami

4. % Holi

Question Number : 62 Question Id : 967947870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIferTaTaT ST ST 1S b SadR UR 31T UT?
Options :

1. ¢ SO
2. % @get
3. % gId GgH!
4. % gren

Question Number : 63 Question Id : 967947871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where was the conference held to resolve the dispute between Israel and Arabs, in 1978?
Options :

1. # Brooke Place Manor

2. # QGreat House

3. % Marshall Hall

4. ¥ Camp David

Question Number : 63 Question Id : 967947871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1978 H, SORTSA 31R 3R&l & g faTe &1 Yagm & o Ta Fel maiford fovam mar am

Options :



1. % §b WY IR
2. % JT I3
3. % ORfagla
4. ¢ Fusfas

Question Number : 64 Question Id : 967947872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the personality who has been awarded Padma Shree.
Options :

1. # Pranab Mukherjee

2. ¥ Kangana Ranaut

3. ¥ Barack Obama

4. % Ram Vilas Paswan

Question Number : 64 Question Id : 967947872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fodded ot Uga o o uar ot & gwfAd fpar mar gl
Options :

1. ® YU TEoif

2. ¢ BT 0T

3. % SR ST

4. % AR YrAaT

Question Number : 65 Question Id : 967947873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the autobiography by visionary scientist Dr. APJ Abdul Kalam.
Options :

1. ¥ Wings of Fire



2. # Transcendence: My Spiritual Experiences with Pramukh Swamiji
3. # Inspiring thoughts
4. ® Turning Points: A Journey Through Challenges

Question Number : 65 Question Id : 967947873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et axfAe 7. WUl S 3fegd HAH B SATHBYT BT ATH Fd1SU|
Options :

1. ¢ fdw 31T BRR

2. % TSY: O RUR=g31e TRTUNUIY {9y TigRg <areiei!

3. % gRUIBRI Uiy

4. % i OIEeq: TSI Y Ao

Question Number : 66 Question Id : 967947874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dreams From My Father is an autobiography of which famous personality?
Options :

1. # Oprah Winfrey

2. ¥ Barack Obama

3. # Maya Angelou

4. ® Michelle Obama

Question Number : 66 Question Id : 967947874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST WhiH ATS WIaR (o URIG Sfad &1 BT 87
Options :

1. % 3RT foTth

2. ¥ D IS




3. % AT oAl
4. % ORI g

Question Number : 67 Question Id : 967947875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot RIS Sma T ¥ FEfAd fosar T B
Options :

1. ¢ TSI faymu

2. % UsT Yy

3. % HRAd

4. % g 4t

Question Number : 67 Question Id : 967947875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Shri Shinzo Abe has been awarded with
Options :

1. ¥ Padma Vibhushan

2. ¥ Padma Bhushan

3. % Bharat Ratna

4. ¥ Padma Shree

Question Number : 68 Question Id : 967947876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of Oxford-AstraZeneca COVID 19 vaccine in India?
Options :

1. % Sputnik

2. ¥ Covaxin

3. % Covishield



4. % Moderna

Question Number : 68 Question Id : 967947876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA B HTRIBIS-TEToHd] HIAS 19 b HT T ATH 82
Options :

1. % WaH®

2. % DI

3. ¢ Hifaiics

4. % At

Question Number : 69 Question Id : 967947877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Smart Cities Awards 2020 for holistic development was bagged by

Options :

1. % Bangalore and Indore
2. % Indore and Surat

3. % Jaipur and Udaipur

4. % Navi Mumbai and Pune

Question Number : 69 Question Id : 967947877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fadM & i W1 TR TREBR 2020 SR UTeT foam T |
Options :

1. % §ITCR SR $GR

2. ¢ $aR IR I

3. % SR 3R ISTR

4. % 991 4a8 R YOI




Question Number : 70 Question Id : 967947878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country is the most gender equal according to the Gender Inequality Index (GII) 2019?
Options :

1. # Norway

2. # TIreland

3. % Denmark

4. % Switzerland

Question Number : 70 Question Id : 967947878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CifiTe ST Yehich 2019 & TR Je TP oiffTch FHICT aTeT G/ I 1 82
Options :

1. % 41d

2. % RS

3. % SIS

4. ¢ RIS

Question Number : 71 Question Id : 967947879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is scheduled to take a trip in July 2021 to space in Blue Origin's first human spaceflight?
Options :

1. # Pichai Sundararajan

2. % Mark Zuckerberg

3. ¥ Jeff Bezos

4. # Satya Nadella

Question Number : 71 Question Id : 967947879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

®IF & 3NRFH & Uga Ad sfafer a1 § s 2021 H Sfafef &1 am= $HRA arel 82

Options :

Question Number : 72 Question Id : 967947880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The final draft of the Constitution of India was ready on
Options :

1. ¥ 26 November, 1949

2. % 26 January, 1950

3. % 24 January, 1950

4. % 15 August, 1947

Question Number : 72 Question Id : 967947880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA & dfaem o1 sifqm aier DI JTR o T |
Options :

1. ¢ 26 AR, 1949

2. % 26 FFAR 1950

3. % 24 SR, 1950

4. % 15 3, 1947

Question Number : 73 Question Id : 967947881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which amendment was made to implement the right to free and compulsory education a fundamental right?
Options :

1. # The Constitution (89th Amendment Act), 2003

2. % The Constitution (103rd Amendment Act), 2019

3. % The Constitution (104th Amendment Act), 2020

4. ¥ The Constitution (86th Amendment Act), 2002

Question Number : 73 Question Id : 967947881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

®IF 1 IR (e 3R sifard Rien & ifeR &1 Mices ifteR & 9§ ary & & fog far mar am
Options :

1. % Hfaer (sodi I=me= sifefam), 2003

2. % Ay (10391 TRMeA ffAfaw), 2019

3. % Gfau™ (10491 TRNEYA i), 2020

4. ¢ YT (8641 TRMEA SMfATTH), 2002

Question Number : 74 Question Id : 967947882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The National Emblem of India was adopted on

Options :

1. # 26 November, 1949
2. ¥ 26th January, 1950
3. # 24 January, 1950
4. % 15 August, 1947

Question Number : 74 Question Id : 967947882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR o 81T forg ol Y ST T |



Options : )

1. # 26 FdeR, 1949
2. ¥ 26 SR, 1950
3. % 24 SR, 1950
4. % 15 3, 1947

Question Number : 75 Question Id : 967947883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The concept of the five year plans in The Indian Constitution was borrowed from which constitution?
Options :

1. # France

2. % Japan

3. % Union of Soviet Socialist Republics

4. ¥ United States of America

Question Number : 75 Question Id : 967947883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Hfaer ¥ deadf dereil o sfayRon fd dfdey™ 3 IuR o 18 82
Options :

1. % Y

2. % W[4

3. ¥ ifdgd FHTSETE] TUrCEl T I

4. % Yo I AR

Question Number : 76 Question Id : 967947884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following countries have football as their national sport?
Options :



1. % China
2. # England
3. % Germany

4. % Russia

Question Number : 76 Question Id : 967947884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Profefea 3 & e 331 1810 Qe pesia 2
Options :

1. % dH

2. % U8

3. ¢ ST

4, % Y

Question Number : 77 Question Id : 967947885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What sport is Dipa Karmakar associated with?
Options :

1. # Tennis

2. % Gymnastics

3. ¥ Boxing

4. ®% Swimming

Question Number : 77 Question Id : 967947885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I FHGR 9 9a A I8! 62
Options :

1. % 29




2. ¢ fSrTfes

3. % TdpdTen
4. % RIDT

Question Number : 78 Question Id : 967947886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which event was held in India in 2010?
Options :

1. ¥ Commonwealth Games

2. % The World Games

3. ¥ The Winter Olympics

4. # The Winter Paralympic

Question Number : 78 Question Id : 967947886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P T HRIHH 2010 H HRA H TAford faam mar o
Options :

1. ¢ DIFTdeY T

2. % g gcs I

3. % g fdeR Sidifue

4. % g fdcr Wcifte

Question Number : 79 Question Id : 967947887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is not an Indian Boxing player?
Options :

1. # Ali Qamar

2. % Dingko Singh



3. % Dola Banerjee
4. % Shiva Thapa

Question Number : 79 Question Id : 967947887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed 3 3 ®F YRd SifedT Raare! 781 82
Options :

1. % 3cll PR

2. % &I Rig

3. ¢ Sl §oil

4. % fRrar yrar

Question Number : 80 Question Id : 967947888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The 2023 Cricket World Cup will be held in
Options :

1. % Germany
2. % Spain
3. # England
4. ¥ India

Question Number : 80 Question Id : 967947888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2023 fobdbe fag oY | S{riford faa e |
Options :

1. % ST

2. % W

3. % U8




4. YRd

Arithmetic Abilityl

Group Number : 5

Group Id : 96794745
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Abilityl

Section Id : 96794745
Section Number : 1

Section type : Online
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Number of Questions : 20
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Section Marks : 20
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Sub-Section Id : 96794753
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 967947889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If x/y = 11/17, find the value of: (x2 - yz)/(x2 + y2)



Options :

1. * —48/205
2.9 —84/205
3. % 84/205
4. = 48/205

Question Number : 81 Question Id : 967947889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i xly = 11/17, (2 - y2)/(x2 + y?) BT A J1d B
Options :

1. * —48/205

2. ¥ —84/205

3. % 84/205

4. % 48/205

Question Number : 82 Question Id : 967947890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Village A has a population of 72000, it is decreasing by 1200 per year. Village B has a population of 48000 which is increasing by 1200 per year.
In how many years will the population of the two villages be equal?

Options :

1. ¥ 10 years
2. % 5 years
3. % 7.5 years
4. % 12 years

Question Number : 82 Question Id : 967947890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A BT SHGRIT 72000 B, S0 TR Y 1200 B HH ST IS S 1 T B BT SIFEAT 48000 & S U Y 1200 1 3R 4 96 W6l ¢ | fovaw auf &
S ITHT BT STHESHAT IRTER 81 SITET?




Options :
1.¥ 1038
2. % 599
3. % 7599
4. % 1299

Question Number : 83 Question Id : 967947891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A basket contains apples. There is one bruised apple for every 20 fresh apples in the basket. If 4 out of every 5 bruised apple are considered
unsaleable and there are 16 unsaleable apples in the basket then how many apples are there in the basket?

Options :
1. % 400
2. % 500
3.9 420
4. % 375

Question Number : 83 Question Id : 967947891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AN H 4 1 AN F T 20 AT A 5 RIY U et gon A9 ¥ 1 A Tl 5 52 G AT A Y 4 Y 0T WA 1§ AR At A
16 31fathg Y9 &, A B W b 9 &2

Options :

1. # 400

2. % 500

3.9 420

4. % 375

Question Number : 84 Question Id : 967947892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the least number which when divided by 10,11,12 and 13 leaves a remainder 3, but when divided by 9 leaves no remainder.



Options :

1. ® 17160
2. % 8583
3. * 8580
4, ¥ 17163

Question Number : 84 Question Id : 967947892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g‘s’ﬂa@riﬁ'@rmmﬁm10,11,12sﬁvl3ﬁﬁlrr%lamﬁu?3iﬁwﬁwl%,81@049“@{1%%@@@3‘@%%&@@
|

Options :

1. % 17160

2. % 8583

3. % 8580

4.9 17163

Question Number : 85 Question Id : 967947893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average age of the couple at the time of marriage is 25 years. After 6 years they have a 2 year old baby. What is the average age of the
family?

Options :

1. ¥ 21.33

2. % 17.33

3. % 20.67

4. % 21.67

Question Number : 85 Question Id : 967947893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3aTe & IHT GHfd ST fd 31g 25 aU g1 6 Y §1G IHD1 2 Y &1 5T ¢ | URAR B NI 311G T 52



Options :

1. ¥ 21.33
2. % 1733
3. % 20.67
4. % 21.67

Question Number : 86 Question Id : 967947894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are ten articles in a shop, 4 of them are in 50 percent discount; 5 are in 15 percent discount and 1 is in it's list price. If 2 of 50 percent
discount, 3 of 15 percent discount and 1 of list price is sold, what is the average discount of the sales to the customer?

Options :
1. ®* 66

2. % 84
3.9 24.17
4. % 42

Question Number : 86 Question Id : 967947894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
wwﬁwaﬁ%mﬁ@mwsouﬁmﬁ@—d%5aﬁ1scrmﬁ§g—dff%aﬁmsw‘hﬁi’r@wﬁ%mﬁsomzﬁﬁ@rz,w
ORI g T 9 3 3R Gl Jed &1 | o1 ST 8, A1 e B! fHaq arcl! [oehl &1 3id ge 1 82

Options :

1. % 66

2. % 84

3. ¥ 24.17

4. % 42

Question Number : 87 Question Id : 967947895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
24 children are to be divided in 3 groups - A, B and C. The number of children in A, B, C is in the ratio 1 : 2 : 3. The average marks obtained by



group A is 60, group B is 80 and all the children is 66. What is the average marks of group C?
Options :

1. % 48

2. % 58

3. % 48.67

4. ¥ 58.67

Question Number : 87 Question Id : 967947895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

24 = DI 3R - A, B AR C A AU fPaT ST 81 A, B, C H Sl 1 G- 1 : 2: 3 & SJUA H g | THE A GRT UK 37Id 3 60 B,
WB%%%%?mﬁaéréé%mﬂgcémﬁwww%?

Options :

1. % 48

2. % 58

3. % 48.67

4.9 58.67

Question Number : 88 Question Id : 967947896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To a solution of sugar of 4 litres containing 65 percent sugar, 2 litres of water is added. What is the percentage of sugar in new solution?
Options :

1. * 35.3 percent

2. ¥ 433 percent

3. % 33.3 percent

4. % 97.5 percent

Question Number : 88 Question Id : 967947896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

65 Ufa=Id A 9Tt 4 Tex =1 & Ui H 2 Tex Ut fram T g | ¢ O | =) b1 ufawid fhar g2



Options :

1. % 353 gfa=rd
2. ¢ 433 gfavid
3. % 333 gfaerd
4. % 975 gfa=rd

Question Number : 89 Question Id : 967947897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value of a machine depreciates at the rate of 15 percent p.a. If its present value is Rs. 170000, what will be the difference in its worth 3 years
from now and worth 2 years ago?

Options :

1. ¥ Rs. 130892.87
2. % Rs. 108392.87
3. % Rs. 108932.78
4. % Rs. 103892.78

Question Number : 89 Question Id : 967947897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A=A &1 He Ufd ay 15 Ufa=id & & & Jeugi a1dT ¢ | fe SHHT IaH oo 170000 $UT 8, A 3d ¥ 3 I8 Ugd 3R 2 98 Ugd &
T I fard1 SR BRI

Options :

1. ¥ 130892.87 Y

2. % 108392.87 ¥UYT

3. % 108932.78 ¥UT

4. % 103892.78 TUY

Question Number : 90 Question Id : 967947898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
10 percent of the people eligible to vote are between 18 years and 22 years of age. In an election 90 percent of those eligible to vote between age



18 to 22 years actually voted. The number of people between 18 to 22 years who actually voted is what percentage of all the age group who are
eligible to vote?

Options :

1. ¥ 9 percent
2. # 10 percent
3. % 90 percent
4. % 1 percent

Question Number : 90 Question Id : 967947898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HAGH & TG 10 Uia=Td A &1 T 18 IV 22 98 & &1 6 | U IAId 1, 18 1 22 T B 3T & i HAGH B b 17T 90 U= ARl
3 IRad ® Ade Tl add § AdgH &34 aid 18 T 22 T4 & & o Al 1 T, AdgH & arg gt 3mg ot &1 foea-m ufara g2

Options :

1. ¢ 9 gfa=rd
2. % 10 gfard
3. % 90 Ufard
4. % 1 gfa=rd

Question Number : 91 Question Id : 967947899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a survey, 30 percent opted for product P and 50 percent opted for product C. The remaining individuals were not certain. If the difference
between those who opted C and uncertain people is 3000, how many individuals were covered in the survey?

Options :
1. % 7500
2. % 5000
3. % 100000
4.+ 10000

Question Number : 91 Question Id : 967947899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TP A& H, 30 U= = STG P HT T4 6T 3R 50 UTI=IG 7 IdTG C HT I8 61| [y faq a1 31 3 ¢ &l - arat 3iR
TS AT b &t BT 3R 3000 B, < Faeor § fora safaaat &1 =mfira fosan mar um

Options :
1. # 7500
2. % 5000
3. % 100000
4. % 10000

Question Number : 92 Question Id : 967947900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After two successive discounts an article with a list price of Rs. 1800 is available at Rs. 1500. If the second discount is 10 percent then what is
the first discount?

Options :

1. # 10.50 percent
2. % 15.82 percent
3. % 92.60 percent
4. ¥ 741 percent

Question Number : 92 Question Id : 967947900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 HHNT Tl & d1g 1800 TUY 1 et H dlell Th a¥d 1500 TUT H IUasy 7 | A g8t e 10 Ufawrd g df Ugehl ge a1 |2
Options :

1. % 10.50 gfa=rd
2. % 15.82 gfa=rd
3. % 92 60 Ufa=Id
4. ¥ 7.41 gfa=rd

Question Number : 93 Question Id : 967947901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A producer allows 38 percent commission on the retail price of the product. He earned a profit of 10 percent. What would be his profit
percentage if the commission is reduced by 20 percent?

Options :

1. % 22.30 percent
2. % 26.70 percent
3. ¥ 23.48 percent
4. % 25.50 percent

Question Number : 93 Question Id : 967947901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FAfdT Sdre & Qe e WR 38 U= HHIRE St SIFAf adl 81 39 10 Wa=Td &1 ary UTed gofT | afe HHIRE § 20 Ufawrd &t HH!
DI ST g Y SUhT Y Ufa=rd &1 g2

Options :

1. % 2230 gfa=rd
2. % 26.70 Ufa=rd
3. ¢ 23.48 Ufa=Id
4. % 2550 Ufard

Question Number : 94 Question Id : 967947902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper buys 45 pens at the marked price of 30 pens and makes a profit of 30 percent. If he sells pens giving 4% discount, what is his profit
percentage?

Options :

1. # 11 percent
2. ¥ 44 percent
3. % 22 percent
4. % 88 percent

Question Number : 94 Question Id : 967947902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TP GHIER 45 B! DI 30 HAH! &b Hfhd Yo TR WGl & 3R 30 UTARId &7 A 3ifold BT 8 | S 98 4 U= B Fe bR Had
SdT g, dl ST AT Ufa<rd T 82
Options :

1. % 11 gfa=ra
2. ¢ 44 9faRId
3. % 22 gfaerd
4. % g8 faRrd

Question Number : 95 Question Id : 967947903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A mixture contains alcohol and water in the ratio 3 : 7. If 7 litres of alcohol and 4 litres of water is added to the solution then the solution changes
to the ratio 5 : 8. What is the quantity of water in the given mixture?

Options :

1. % 242/11
2.9 252/11
3. % 262/11
4. % 272/11

Question Number : 95 Question Id : 967947903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YU & Sfehigd SR U &1 3T 3 : 781 Ife Uid | 7 TieR 3fehigd 3R 4 diex U e fear se ar aid 5 - 8 & 3igrd § 9ad
e 81 fau T fovgror & o 1 A fb i B2

Options :

1. % 242/11

2. ¥ 252/11

3. % 262/11

4. % 272/11




Question Number : 96 Question Id : 967947904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seats of Maths, Physics and Chemistry and are in the ratio 13 : 11 : 9. The seats are expected to increase by 43 percent, 34 percent and 29 percent
respectively. What will be the ratio of increased seats?

Options :

1. % 1859 : 1474 : 1161
2. % 1372 :1059 : 942
3. % 154:128:96

4. % 1541:1305:1036

Question Number : 96 Question Id : 967947904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TOrd, HifddT R AT A BT 13 2 11 : 9 F Ut H € | It T SH=T: 43 UIRId, 34 UfA=Id 3R 29 UfA=d &1 g 811 &1 SH1g
&1 91 g3 IcI &1 3guTd o1 g

Options :

1. ¥ 1859 : 1474 : 1161

2. % 1372:1059 : 942

3. % 154:128:96

4. % 1541 :1305:1036

Question Number : 97 Question Id : 967947905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of volume of 3 containers are 4 : 5 : 7. All contain mixture of milk and water in the ratio 3 : 4,5 : 7 and 7 : 9 respectively. What is the
ratio of milk and water in fourth container if the mixture of all three container are poured into fourth container?

Options :

1. % 2305/3371
2. % 2405/3071
3. ¥ 2305/3071
4. % 2405/3371



Question Number : 97 Question Id : 967947905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 TRl o ST B SUIT 4: 5 : 71 T T QY 3R U BT HYUI HHA: 3:4,5: 7 3R 7: 9 F ST A g1 A FHeR H gY 3R Ut
T ITd 7 ¢ Tfe; A1 HeR P A0 B N R H STaT ST 82

Options :

1. % 2305/3371

2. % 2405/3071

3. ¥ 2305/3071

4. % 2405/3371

Question Number : 98 Question Id : 967947906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gold is 20 times as heavy as water and copper is 11 times as heavy as water. What is the ratio of gold and copper in the mixture to get an alloy of
15 times as heavy as water?

Options :
l.% 5:4
2.% 3:5
3.9°4:5
4. % 5:3

Question Number : 98 Question Id : 967947906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
@muﬁ%gmzowuﬁ%aﬁwimuﬁ&w 11 AT U 8 1 T fTamT 15 TA7 YR s e &= & fore fvsror & 99 ok dfd &1
SIUId AT 8?2

Options :
1.%5:4
2. % 3:5
3.94:5




4, %5:3

Question Number : 99 Question Id : 967947907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money becomes Rs. 23330 in 2 years time and Rs. 27293 in 6 years time. The sum is on compound interest. What is the sum of money?
Options :

1. ® Rs. 20678.45

2. % Rs.20401.83

3. ¥ Rs. 20569.82

4. ¥ Rs. 21569.82

Question Number : 99 Question Id : 967947907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Y-RIRT 2 T & THT H 23330 FUT B S © 3R 6 T & THT H 27293 FUU Bl S § | AT Tehgfea s W g1 & AR 71 82
Options :

1. #® 20678.453UUQ

2. % 20401.83 U

3. % 20569.82 24U

4. % 21569.82 24U

Question Number : 100 Question Id : 967947908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money is borrowed and it is paid back in two annual equal installments. The compound rate of interest is 5 percent p.a. The sum of
money is 124 less than twice the installment. What is the sum of money?

Options :

1. ¥ Rs. 1640
2. % Rs. 882
3. ¥ Rs. 820
4. % Rs. 1200



Question Number : 100 Question Id : 967947908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS R IYR T 718 ¢ 3R I &l a1fties THM fh=e! & 109 YT a1 71 8 | S &1 ahd g ax Uia a8 5 Ufa=id g | 4= Iy for=d &
AT 124 FHE| U AT R G2

Options :
1. ¥ 1640 %UTQ
2. % 882%UU
3. % 820%UU
4, % 1200 >UU7
Arithmetic Ability2
Group Number : 6
Group Id : 96794746
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability2
Section Id : 96794746
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794754
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 967947909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An amount of Rs. 200000 is invested in two types of shares. The first shares yields a return of 11 percent p.a. and second yields 9 percent p.a.
The total interest at the end of year 1 is 39/4 percent, what is the amount invested in each share?

Options :
1. # TYPE 1-50000
TYPE 2-150000

2. % TYPE 1-75000
TYPE 2-125000

3. ¥ TYPE 1-150000
TYPE 2-50000

4. % TYPE 1-125000
TYPE 2-75000

Question Number : 101 Question Id : 967947909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

200000 FUY B R ST THR F AIRI & A B 715 81 Ugar IR Ui Iy 11 Ufa=rd &1 ufawa a1 8 3R gavT ufaay o ufawrd <ar g1 aef
1 & 37d B 1 ST 39/4 YA B, T YR H w1 718 I g2

Options :

1. # YhRR 1-50000

UDIX 2-150000

2. % JHR 1-75000

UhIX 2-125000

3. ¥ JPR 1-150000
UhIR 2-50000



4. % YhR 1-125000
UhIR 2-75000

Question Number : 102 Question Id : 967947910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Biresh invested certain sum of money in three schemes - X, Y and Z. The rate of interest are 8 percent, 10 percent and 12 percent p.a. If the total
interest accrued in Rs. 3200 and the amount invested in Scheme X was 140 percent of Scheme Y and 200 percent of the amount invested in
Scheme Z. What is twice the amount invested in Y?

Options :

1. % Rs. 16782.45
2. % Rs. 14567.21
3. ¥ Rs. 21621.62
4. % Rs. 12641.12

Question Number : 102 Question Id : 967947910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foR=r 3 A TiorTef - X, Y iR Z B 5 1 7 o fsan | st & &R Ui 9 8 Ufa=rd, 10 wfa=rd iR 12 ufawrd 81 afe $a sutford
STl 3200 FUT g TR AT X H =1 BT 15 IR ST Y BT 140 UFIRT 3R Ao z H Fa=1 31 175 A1 67 200 iR o1 v § Fa=r o1
TS 011 &7 &1 AT 1 82

Options :

1. % 16782.45%UUQ

2. % 14567.21 34U

3.9 21621.62 %UU

4. % 12641.12%UU

Question Number : 103 Question Id : 967947911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A speed of a train increases by 3 kmph after every hour. If the distance travelled in first hour in 40 km, what is the total distance covered in 15
hours?

Options :



1. ¥ 915 kms
2. % 1275 kms
3. # 1225 kms
4. # 1250 kms

Question Number : 103 Question Id : 967947911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS YS! 1 71fd 8 HS P &1G 3 kmph 9 Ol &1 TFS T8Q 6 H 40 ke B S8 T BT O &, Y 15 6 B q9 B 718 Hdd g8l 182
Options :

1. ¥ 915 kms

2. % 1275 kms

3. % 1225 kms

4. % 1250 kms

Question Number : 104 Question Id : 967947912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P and Q are the two stations 415 km apart. A train starts from P at 10:30 a.m. and travels towards Q at 70 kmph. Another train starts at Q at 11:30
a.m. and travels towards P at 45 kmph. At what time will they meet?

Options :

1. % 1:45:00 PM
2. % 2:00:00 PM
3. % 1:30:00 PM
4. % 2:30:00 PM

Question Number : 104 Question Id : 967947912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P 3R Q &I WY UHGIR T 415 km TR & | T JATST 10:30 TaTE P T L= Bl § 3R Q BT 3R 70 kmph 1 71 F Telcl 81 T 30
IEST 11:30 AT TR Q U & 81T § 3R 45 kmph P 7T J P & 3R et 81 9 fog g fircie

Options :



1. % 1:45:00 W&
2. % 2:00:00 WM&
3. % 1:30:00 WM&
4. 2:30:00 W@

Question Number : 105 Question Id : 967947913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man travels 500 kms at a speed of 50 kmph by a train, 600 kms by a ship at 40 kmph, 500 kms by aeroplane at 400 kmph and 100 kms by car
at 50 kmph. What is the average speed of the entire journey?

Options :

1. % 32.15
2. % 50.45
3. % 46.33
4.+ 60.18

Question Number : 105 Question Id : 967947913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3MEHT 50 kmph B A T IS F 500 kms D1 AT BT 8, STETS GRT 40 kmph B I T 600 kms, 400 kmph &1 TTfd T gaTs STeTol &
500 kms 3R R §RT 50 kmph B! 7T I 100 kms T BT € | T AT 1 39 TR 182

Options :

1. # 32.15
2. % 50.45
3. % 46.33
4. ¥ 60.18

Question Number : 106 Question Id : 967947914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Kumar can do 1/3 of a work in 4 days and Kumari can do 1/54 of the same work in 6 days. How much will Kumari get if they both work
together and get Rs. 2800 paid?



Options :

1. ¥ Rs. 100
2. % Rs. 200
3. #* Rs. 2600
4. # Rs. 2400

Question Number : 106 Question Id : 967947914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS FUR fordlt BT BT 1/3 YT 4 feT B - vl § 3IR SHRT ST BT BT 1/54 U 6 Tal § R Tohdll g | FAR B! [ e afg a
GIHI T 1Y HTH B g 3R 2800 TUT HT YA U Rl 62

Options :

1.+ 100 YU

2. % 200 30T

3. % 2600 YU

4. % 2400 %Y

Question Number : 107 Question Id : 967947915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 men and 4 women do the job in 8 days. 3 men and 3 women do the job in 15 days. In how many days will 20 women complete the job?
Options :

1. % 6

2.9 12

3. % 8

4. % 10

Question Number : 107 Question Id : 967947915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁuﬁ4mmﬁgﬁﬁwmﬁ%l 3 J9N 3R 3 Afa 15 fa=i & &1 #3d 81 20 ARANE 39 &1 &1 fvaq fa i A g



Options :
1. % 6
2.¥ 12
3.% 8
4. % 10

Question Number : 108 Question Id : 967947916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U and V can do a piece of work for Rs. 800. U can do it in 5 days and V can do it in 10 days. With the help of W they can finish it in 2 days
together. What is the ratio of money that each receive, U : V : W?

Options :
1.9 2:
2. % 1:
3.% 2
4. % 1:

[NOTEN NS I S R
—_— = NN

Question Number : 108 Question Id : 967947916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U SR V TP BT B 800 FUTH TR IS 8| U T 5 A1 H = Ief1 8 SR v S 10 AT H X Iba 81 W 1 Heraar 9 3 9 T 91 2
A AU ARSI U: V: W, TP Pl U 811 a1l & T ST 1 &2

Options :
1.¥2:1

2. % 1:2

3.%2:2:
4. % 1:2

S S

Question Number : 109 Question Id : 967947917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P and Q can do a work in 82 days; Q and R can do it 102 days; P, Q and R can do it in 50 days. How long will R take to complete the job alone?



Options :

1. # 132.125 days
2. % 118.125 days
3. % 128.125 days
4. % 105.125 days

Question Number : 109 Question Id : 967947917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PIRQUEFH HI 82 RA TR IHAE; Q MR RIF 102 AT IR TFA B, P, Q 3R R 3H 50 feAI H R I &1 R 3P B B [T
®H A fhd g9y T

Options :

1. % 132.125 faA

2. % 118.125 e

3.¢ 128.125 e

4. % 105.125 faq

Question Number : 110 Question Id : 967947918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of diagonals of two squares are 3 : 4. What is the ratio of their areas?
Options :

1. % 16:9

2.99:16

3.%3:4

4, % 27:64

Question Number : 110 Question Id : 967947918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST o AT BT ST 3 - 4 8| S AHA BT ST FT 52

Options :




1.%16:9
2.9 9:16
3.% 3:4

4, % 27:64

Question Number : 111 Question Id : 967947919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are two metallic right circular cones with heights as 10 cm and 15 cm. The radii of their bases is 1.4 cm and 2.1 cm. Both the cones have
been melted and formed a cylinder of height 6 cm. What is the diameter of the cylinder?

Options :

1. % 4213 cm
2. % 1.823 cm
3. % 3,124 cm
4. ¥ 436 cm

Question Number : 111 Question Id : 967947919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& YT T gRiTT P § oI aTs 10 em 3R 15 cm 1 371 SMURI &1 3947 1.4 cm 3R 2.1 em B 1 3F1 Wp3f &) FAIATHR 6 em
$dTs BT So ST T § | 9T T T FIT 82

Options :

1. % 4213 cm

2. % 1823 cm

3. % 3124 cm

4. % 436 cm

Question Number : 112 Question Id : 967947920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A well has a diameter of 28 m and is dug 12 m deep. The earth taken out of it is evenly spread all around it to a breadth of 14 m so that an
embankment is formed out of it. The height of the embankment is



Options :
I.* 2m
2. % 3m
3. 4m

4. % Sm

Question Number : 112 Question Id : 967947920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP U BT AN 28 m § AR S 12 m TeXT Wial T 8| 398 I ATl 73 gt 1 39F IR 3R T T ¥ 14 m B dIeTs & bl fed
T B dIf IUH Y U desy §9 ST | ey Bl Gars gl

Options :

1. % 2m

2.% 3m

3. 4m

4. % 5m

Question Number : 113 Question Id : 967947921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the human body, what part is made of neither bones nor skin?



Composition of human body

Options :

1. ® 53 percent
2. ® 49 percent
3. ® 51 percent
4. ¥ 47 percent

Question Number : 113 Question Id : 967947921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A IRR A S AT 3TN ST A I8 SR A S T A T3 g2



Options :

1. % s3ygfa=d
2. % 49 Yfard
3. % 51 gfawrd
4. ¢ 47 9faerd

Question Number : 114 Question Id : 967947922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the total number of students in each institute is the same, how much percentage of students passed more in institute X to institute U?



Percentage of students who passed
entrance

Options :

1. ® 14 percent
2. ¥ 140 percent
3. % 58 percent
4. ® 580 percent

Question Number : 114 Question Id : 967947922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T TR H B &1 $ol T M §, O TRIF X B gorql § T=IF U H e ufawrd o= sifdre Siof gwo
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Options :

1. % 14 gfawd
2. ¥ 140 Ufa=rd
3. % 58 gfavrd
4. % 580 Ufa=rd

Question Number : 115 Question Id : 967947923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the yield per acre of rice was 40 percent more than that of barley, then the production of barley is what percent of that of rice?



Food Crops Distribution

Options :

1. ¥ 71 percent
2. ® 70 percent
3. ® 72 percent
4. ® 69 percent

Question Number : 115 Question Id : 967947923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IS Ufd T s T1ad o1 IUST ST bt g1 | 40 Ufawra i off, 3 St &1 Ide Iad & Idre o1 fbd-r ufaerd g2




Options :

1. ¢ 71 fa=rd
2. % 70 gfa=rd
3. % 72 gfard
4. % 69 yfaerd

Question Number : 116 Question Id : 967947924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If, the population of all the villages is the same, find the ratio of population of village C below poverty line to that of village F above poverty line.



% of population below poverty line

Options :

1. % 20:71
2. % 29:80
3.9 71:20
4. % 80:29

Question Number : 116 Question Id : 967947924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe, it 7iTal Pt SReT YHM g, ) TR 1 ¥ AR T11d ¢ &1 SR 61 TS ¥ Y SR Td F ! S8R I $0Td 1d B |
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Options :

1. % 20:71
2. %29:80
3.¥71:20
4. % 80:29

Question Number : 117 Question Id : 967947925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year there has been a maximum percentage increase in the value of finished goods as compared to previous year?



s | 68569
58960

60000 - 57451

50952

50000 -
41663

30000 -

Value of Finished goods

10000 -

2015 2016 2017 2018 2013 2020

Year

Options :
1. # 2015
2. % 2016
3. % 2018
4. %2019

Question Number : 117 Question Id : 967947925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frsd af Bt go & g af §f R avg & gea ¥ ifreaw ufaed 9fe g3 82



TR O o1 94

70000 - 64464 =
58960
E0000 - 57451
50952
20000 -
41669
40000 -
30000 -
20000 -
10000 -
]
2018

2015 2016 2017 2019 2020

Options :
1. ¥ 2015
2. % 2016
3. % 2018
4. %2019

Question Number : 118 Question Id : 967947926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The imports are the maximum proportionate to the exports in which year?



2.50 7]

1.95

2.00

150 7

1.00 7

0.50 7

Ratio of imports to exports

2014 20135 2016 2017 2018 2013 2020 2021 2022

Year

Options :
1. % 2014
2. % 2016
3. % 2018
4. ¥ 2022

Question Number : 118 Question Id : 967947926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore oy 7 simara fafd & aruTd & siftiedd 72



250 ~

1.95
2.00

1.50 A

0.50 -+

0

:
:
fé

2014 2015 2016 2017 2018 2015 2020 2021 2022

ad

Options :
1. % 2014
2. % 2016
3. %2018
4. ¥ 2022

Question Number : 119 Question Id : 967947927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The income of the Company P and Q were equal in the year 2015. What is the ratio of expenditure of Company P to that of Company Q in 2015?



—=—Company P Profit % -—=Company Q Profit%

70% -

60% -

0%

40%

30%

20%

Ratio of expenditure

10%

0%
2012 2013 2014 2015 2016 2017 2018 2019 2020

Year

Options :
1. % 17:9
2.¥9:17
3.% 1:1
4. % 2:1

Question Number : 119 Question Id : 967947927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qy 2015 B HUAT P 3R Q P M SRI&R Y1 2015 H HUAHT P & T BT HUAT Q o 9T I 3UTd T 82
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40%
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0
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20%

10% -

0%
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ay

Options :
1.%17:9
2.9 9:17
3.% 1:1
4. % 2:1

Question Number : 120 Question Id : 967947928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the two amounts invested in 2014 by Company M and N are in the ratio 7 : 10 then what is the amount that is received by both companies as
interest after one year?



~=—Company N -=—Company M

25% -

20%

15% -

10% -

5% -

Amount received by both companies

0%
2012 2013 2014 2015 2016 2017 2018 20189 2020

Year

Options :

1. % 10 percent
2. % 24 percent
3. # 14 percent
4. ¥ 12 percent

Question Number : 120 Question Id : 967947928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%@M RN ER12014 H A I TS S R7: 10 P SU H &, T TP a8 & §IG G| HUHAl Dl S &b &9 H a1 A1 UIed
?



25% -

% 20% -

% 10% -

Ll

0%
2012 2013 2014 2015 2016 2017 2018 2019 2020
GLj
Options :
1. % 10 gfd=rd
2. % 24 UfaRId
3. % 14 GfcrRrd
4.+ 12 9fd=d
General English1

Group Number : 7
Group Id : 96794747
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General English1

Section Id : 96794747
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794755
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 967947929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

When all these pieces come / together, just not did your / work move toward greatness, but so does your life.
Options :

1. * When all these pieces come

2. ¥ together, just not did your

3. * work move toward greatness, but so does your life.

4. * No Error

Question Number : 121 Question Id : 967947929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.



When all these pieces come / together, just not did your / work move toward greatness, but so does your life.
Options :

1. ® When all these pieces come

2. ¥ together, just not did your

3. # work move toward greatness, but so does your life.

4. % No Error

Question Number : 122 Question Id : 967947930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

There are two principle reason, first we / used a very tough standard as our metric of great results and second / the fifteen-year sustainability
requirement.

Options :

1. ¢ There are two principle reason, first we

2. % ysed a very tough standard as our metric of great results and second
3. % the fifteen-year sustainability requirement.

4. ® No Error

Question Number : 122 Question Id : 967947930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

There are two principle reason, first we / used a very tough standard as our metric of great results and second / the fifteen-year sustainability
requirement.

Options :
1. ¥ There are two principle reason, first we
2. % used a very tough standard as our metric of great results and second

3. # the fifteen-year sustainability requirement.



4. % No Error

Question Number : 123 Question Id : 967947931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

No one can degrade us except / ourselves; that if we are worthy, no influence / can defeat us we need to except who we are.
Options :

1. % No one can degrade us except

2. % ourselves; that if we are worthy, no influence

3. % can defeat us we need to except who we are.

4. % No Error

Question Number : 123 Question Id : 967947931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

No one can degrade us except / ourselves; that if we are worthy, no influence / can defeat us we need to except who we are.
Options :

1. # No one can degrade us except

2. # ourselves; that if we are worthy, no influence

3. % can defeat us we need to except who we are.

4. % No Error

Question Number : 124 Question Id : 967947932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.



By the time you were arriving home, / I would have done all the house hold / chores and left for work.
Options :

1. ¥ By the time you were arriving home,

2. % 1 would have done all the house hold

3. % chores and left for work.

4. % No Error

Question Number : 124 Question Id : 967947932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

By the time you were arriving home, / I would have done all the house hold / chores and left for work.
Options :

1. ¥ By the time you were arriving home,

2. % 1 would have done all the house hold

3. % chores and left for work.

4. # No Error

Question Number : 125 Question Id : 967947933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Although it was cold / but Aditya was wearing / a pair of shorts.
Options :

1. #® Although it was cold

2. ¥ but Aditya was wearing

3. # a pair of shorts.

4. % No Error



Question Number : 125 Question Id : 967947933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Although it was cold / but Aditya was wearing / a pair of shorts.
Options :

1. % Although it was cold

2. ¥ but Aditya was wearing

3. % a pair of shorts.

4. % No Error

Question Number : 126 Question Id : 967947934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Humans are (the more impatient) and restless of all living creatures.
Options :

1. ¥ the most impatient

2. % most impatient

3. ¥ more impatient

4. ¥ No correction required.

Question Number : 126 Question Id : 967947934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Humans are (the more impatient) and restless of all living creatures.



Options :

1. ¥ the most impatient
2. # most impatient

3. ¥ more impatient

4. ¥ No correction required.

Question Number : 127 Question Id : 967947935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(He says that, “The companies you) wrote about were, for the most part, always great."
Options :

1. # He said that, “The companies you

2. ¥ He said “the companies you

3. # He is saying that, “The companies you

4. % No correction required.

Question Number : 127 Question Id : 967947935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(He says that, “The companies you) wrote about were, for the most part, always great."
Options :

1. # He said that, “The companies you

2. ¥ He said “the companies you

3. % He is saying that, “The companies you

4. ¥ No correction required.

Question Number : 128 Question Id : 967947936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

In your previous attempts of the examination (you only could not pass because you did not persevere yourself in it.)
Options :

1. #® you could not pass because you did not persevere for it.

2. # you only could not pass because you did not persevere.

3. % you could not pass because you did not persevere.

4. ® No correction required.

Question Number : 128 Question Id : 967947936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

In your previous attempts of the examination (you only could not pass because you did not persevere yourself in it.)
Options :

1. # you could not pass because you did not persevere for it.

2. % you only could not pass because you did not persevere.

3. % you could not pass because you did not persevere.

4. # No correction required.

Question Number : 129 Question Id : 967947937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

You and your co-author (have did a very fine) job on the research and writing.
Options :

1. #® were been doing a very fine



2. ¥ did a very fine
3. %* has done a very fine

4. # No correction required.

Question Number : 129 Question Id : 967947937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

You and your co-author (have did a very fine) job on the research and writing.
Options :

1. ¥ were been doing a very fine

2. % did a very fine

3. # has done a very fine

4. # No correction required.

Question Number : 130 Question Id : 967947938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

The film, like the book, was considered as it was met with especially harsh criticism by the Catholic Church.
Options :

1. # unquestionable

2. % controversial

3. % jovial

4. % exuberant

Question Number : 130 Question Id : 967947938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.



The film, like the book, was considered as it was met with especially harsh criticism by the Catholic Church.
Options :

1. # unquestionable

2. ¥ controversial

3. % jovial

4. % exuberant

Question Number : 131 Question Id : 967947939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Aditya created a stunning , turning ‘The Union Express’ into the leading paper-based consumer products company in the world.
Options :

1. ¥ transformation

2. % transition

3. % transmigration

4, * transmission

Question Number : 131 Question Id : 967947939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Aditya created a stunning , turning ‘The Union Express’ into the leading paper-based consumer products company in the world.
Options :

1. ¥ transformation

2. % transition

3. # transmigration

4. % transmission

Question Number : 132 Question Id : 967947940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

The core story of the work is that of a struggle for the throne of Hastinapura, the kingdom ruled by the Kuru clan.
Options :

1. #¥ regionarious

2. % intercontinental

3. % dynastic

4. # relegated

Question Number : 132 Question Id : 967947940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

The core story of the work is that of a struggle for the throne of Hastinapura, the kingdom ruled by the Kuru clan.
Options :

1. % regionarious

2. % intercontinental

3. % dynastic

4. # relegated

Question Number : 133 Question Id : 967947941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

After attracting varying of public attention from the late 1960s to the 1980s, the mythical history of the Priory of Sion was exposed as
a 'ludibrium'.

Options :

1. ¥ degrees

2. # logics



3. # faux

4. # familiarity

Question Number : 133 Question Id : 967947941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

After attracting varying of public attention from the late 1960s to the 1980s, the mythical history of the Priory of Sion was exposed as
a 'ludibrium’.

Options :

1. ¥ degrees

2. ® logics

3. % faux

4. ® familiarity

Question Number : 134 Question Id : 967947942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Madame Tussauds is a wax museum in London;

P. Madame Tussauds is a major tourist attraction in London, displaying the waxworks of famous and historical figures, as well as popular film
and television characters played by famous actors.

Q. it has smaller museums in a number of other major cities.

R. It used to be spelled as "Madame Tussaud's"; the apostrophe is no longer used.

S. It was founded by wax sculptor Marie Tussaud in 1835.

The nearest station to the museum is Baker Street which is at the walking distance.
Options :

1. ¥ QSRP

2. % QPRS

3. % QRPS



4. % QPSR

Question Number : 134 Question Id : 967947942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Madame Tussauds is a wax museum in London;

P. Madame Tussauds is a major tourist attraction in London, displaying the waxworks of famous and historical figures, as well as popular film
and television characters played by famous actors.

Q. it has smaller museums in a number of other major cities.

R. It used to be spelled as "Madame Tussaud's"; the apostrophe is no longer used.

S. It was founded by wax sculptor Marie Tussaud in 1835.

The nearest station to the museum is Baker Street which is at the walking distance.
Options :

1. ¥ QSRP

2. % QPRS

3. % QRPS

4. % QPSR

Question Number : 135 Question Id : 967947943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The Arabian Sea's surface area is

P. the Indus River. The Arabian Sea has two important
Q. 4,652 metres. The biggest river flowing into the sea is

R. about 3,862,000 km?. The maximum width of the sea is
S. approximately 2,400 km and its maximum depth is



branches — the Gulf of Aden in the southwest and the Gulf of Oman to the northwest.
Options :

1. ¥ QRSP

2. # SQPR

3. % RSQP

4. # SQRP

Question Number : 135 Question Id : 967947943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The Arabian Sea's surface area is

P. the Indus River. The Arabian Sea has two important
Q. 4,652 metres. The biggest river flowing into the sea is

R. about 3,862,000 km?. The maximum width of the sea is
S. approximately 2,400 km and its maximum depth is

branches — the Gulf of Aden in the southwest and the Gulf of Oman to the northwest.
Options :

1. ¥ QRSP

2. % SQPR

3. % RSQP

4. % SQRP

Question Number : 136 Question Id : 967947944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Because of historical social and familial roles,



P. When production was industrialized,

Q. baking has traditionally been performed at home by women for day-to-day meals and by men in bakeries and restaurants for local
consumption.

R. fundamental skill and is important for nutrition, as baked goods,

S. baking was automated by machines in large factories. The art of baking remains a

especially breads, are a common and important food, both from an economic and cultural point of view.
Options :

1. ¥ PSQR

2. % SRQP

3. % QPSR

4. % RPQS

Question Number : 136 Question Id : 967947944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Because of historical social and familial roles,

P. When production was industrialized,

Q. baking has traditionally been performed at home by women for day-to-day meals and by men in bakeries and restaurants for local
consumption.

R. fundamental skill and is important for nutrition, as baked goods,

S. baking was automated by machines in large factories. The art of baking remains a

especially breads, are a common and important food, both from an economic and cultural point of view.
Options :

1. # PSQR

2. % SRQP

3. ¥ QPSR

4. % RPQS

Question Number : 137 Question Id : 967947945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Sherlock Holmes a fictional private detective created by British author Sir Arthur Conan Doyle.

P. Holmes 1s known for his proficiency with observation, deduction, forensic science,

Q. First appearing in print in 1887's A Study in Scarlet

R. Referring to himself as a "consulting detective" in the stories

S. and logical reasoning that borders on the fantastic, which he employs when investigating cases for a wide variety of clients, including Scotland
Yard.

the character's popularity became widespread with the first series of short stories in The Strand Magazine, beginning with "A Scandal in
Bohemia" in 1891.

Options :

1. ¥ RPQS
2. % RPSQ
3. * PQRS
4. * QSPR

Question Number : 137 Question Id : 967947945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Sherlock Holmes a fictional private detective created by British author Sir Arthur Conan Doyle.

P. Holmes is known for his proficiency with observation, deduction, forensic science,

Q. First appearing in print in 1887's A Study in Scarlet

R. Referring to himself as a "consulting detective" in the stories

S. and logical reasoning that borders on the fantastic, which he employs when investigating cases for a wide variety of clients, including Scotland
Yard.

the character's popularity became widespread with the first series of short stories in The Strand Magazine, beginning with "A Scandal in
Bohemia" in 1891.



Options :

1. # RPQS
2. ¥ RPSQ
3. ¥ PQRS
4. % QSPR

Question Number : 138 Question Id : 967947946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

REBOUND
Options :

1. ¥ OVERCOME
2. % DESTROY
3. ¥ GAMBLE

4. % FORGIVE

Question Number : 138 Question Id : 967947946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

REBOUND
Options :

1. ¥ OVERCOME
2. % DESTROY
3. ¥ GAMBLE

4. % FORGIVE

Question Number : 139 Question Id : 967947947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word that is opposite in meaning (ANTONYM) to the word given below.

AUDACITY
Options :

1. % AUDIBLE
2. % COURAGE
3. ¥ GENTILITY
4. % BRAVERY

Question Number : 139 Question Id : 967947947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

AUDACITY
Options :

1. ¥ AUDIBLE
2. % COURAGE
3. % GENTILITY
4. % BRAVERY

Question Number : 140 Question Id : 967947948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

SQUANDER
Options :

1. ¥ MISER

2. ¥ EXPEND

3. ¥ ACCUMULATE
4. % SET ASIDE



Question Number : 140 Question Id : 967947948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word that is similar in meaning (SYNONYM) to the word given below.

SQUANDER
Options :

1. * MISER

2. ¥ EXPEND

3. ®* ACCUMULATE
4. % SET ASIDE

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
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Number of Questions :

Number of Questions to be attempted :

Section Marks :

General English2
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96794748
0

0
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No

0
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General English2

96794748
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Online
Mandatory
16

16

20



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 96794756
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 967947949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

FICKLE

Options :

1. ¥ UNSTABLE
2. % CONSTANT
3. % FAITHFUL

4. % SUPPORTIVE

Question Number : 141 Question Id : 967947949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

FICKLE

Options :

1. ¥ UNSTABLE
2. % CONSTANT
3. ¥ FAITHFUL

4. % SUPPORTIVE

Question Number : 142 Question Id : 967947950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below



FEROCIOUS
Options :

1. ¥ DOCILE

2. % DOMESTIC
3. ¥ VIOLENT
4. ¥ ENERGETIC

Question Number : 142 Question Id : 967947950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

FEROCIOUS
Options :

1. ¥ DOCILE

2. % DOMESTIC
3. ¥ VIOLENT

4. % ENERGETIC

Question Number : 143 Question Id : 967947951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ DEDUCTIBLE

2. ¥ DEDUCTABLE

3. #* DEDUCTEBLE

4. #* DEDOUCTIBLE

Question Number : 143 Question Id : 967947951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ DEDUCTIBLE

2. % DEDUCTABLE

3. ¥ DEDUCTEBLE

4. % DEDOUCTIBLE

Question Number : 144 Question Id : 967947952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # LIASON

2. # LIASION

3. # LIAISION

4. ¥ LIAISON

Question Number : 144 Question Id : 967947952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ LIASON

2. % LIASION

3. % LIAISION

4. ¥ LIAISON

Question Number : 145 Question Id : 967947953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :



1. * PRONOUNCIATION
2. ¥ PRONUNCIATION
3. ¥ PRONANCIATION
4. % PRONUNCATION

Question Number : 145 Question Id : 967947953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ PRONOUNCIATION

2. % PRONUNCIATION

3. ¥ PRONANCIATION

4. ¥ PRONUNCATION

Question Number : 146 Question Id : 967947954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ DECEDENCE

2. ¥ DECADENCE

3. ¥ DECEDANCE

4. % DECADANCE

Question Number : 146 Question Id : 967947954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. * DECEDENCE

2. ¥ DECADENCE



3. ¥ DECEDANCE
4. % DECADANCE

Question Number : 147 Question Id : 967947955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ RECESS

2. % RECCESS

3. # RECESE

4. # RECES

Question Number : 147 Question Id : 967947955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ RECESS

2. % RECCESS

3. ¥ RECESE

4. % RECES

Question Number : 148 Question Id : 967947956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

To bear the palm
Options :

1. % To get married.
2. % To win.



3. # To take chances.

4. # To be patient.

Question Number : 148 Question Id : 967947956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

To bear the palm
Options :

1. # To get married.
2. % To win.

3. # To take chances.

4. % To be patient.

Question Number : 149 Question Id : 967947957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Golden handshake

Options :

1. % To crack a massive deal.

2. % Large amount of money given to a person especially when they leave a company.
3. # To become rich suddenly.

4. # To win a lottery.

Question Number : 149 Question Id : 967947957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Golden handshake



Options :

1. # To crack a massive deal.

2. ¥ Large amount of money given to a person especially when they leave a company.
3. # To become rich suddenly.

4. ® To win a lottery.

Question Number : 150 Question Id : 967947958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Hobson's choice

Options :

1. #® A decision that flips the situation completely.
2. % The best of all the options available.

3. ¥ Something that seems to be a choice but isn't.

4. ® To choose something in your favour.

Question Number : 150 Question Id : 967947958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Hobson's choice

Options :

1. # A decision that flips the situation completely.
2. # The best of all the options available.

3. % Something that seems to be a choice but isn't.

4. % To choose something in your favour.

Question Number : 151 Question Id : 967947959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom.

To catch a tartar

Options :

1. ¥ To lay hold of, or encounter, a person who proves too strong for the assailant.
2. # Suddenly.

3. % Policy of cautious persistence.

4. ® Extremly hot.

Question Number : 151 Question Id : 967947959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

To catch a tartar

Options :

1. ¥ To lay hold of, or encounter, a person who proves too strong for the assailant.
2. % Suddenly.

3. # Policy of cautious persistence.

4. % Extremly hot.

Question Number : 152 Question Id : 967947960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Something that is taken as a proof.
Options :

1. ® Testify

2. ¥ Testament

3. # Contradiction

4. ® Contraption



Question Number : 152 Question Id : 967947960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Something that is taken as a proof.
Options :

1. % Testify

2. ¥ Testament

3. # Contradiction

4. # Contraption

Question Number : 153 Question Id : 967947961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Something that thick and sticky and does not flow easily.
Options :

1. # Vicious

2. # Cloy

3. % Viscous

4. # Tampered

Question Number : 153 Question Id : 967947961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Something that thick and sticky and does not flow easily.
Options :

1. # Vicious

2. # Cloy



3. % Viscous
4. # Tampered

Question Number : 154 Question Id : 967947962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Someone who is not guilty of the bad things they have done.
Options :

1. ¥ Remorseless

2. # Fearless

3. % Condemned

4. % Delinquent

Question Number : 154 Question Id : 967947962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Someone who is not guilty of the bad things they have done.
Options :

1. ¥ Remorseless

2. ® Fearless

3. # Condemned

4. % Delinquent

Question Number : 155 Question Id : 967947963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Something that lasts for a very short time.



Options :

1. # Quick

2. % Erring

3. % Ephemeral
4. # Perpetual

Question Number : 155 Question Id : 967947963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Something that lasts for a very short time.
Options :

1. #® Quick

2. # Erring

3. % Ephemeral

4. ¥ Perpetual

Sub-Section Number : 2
Sub-Section Id : 96794757
Question Shuffling Allowed : Yes

Question Id : 967947964 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (156 to 160)
Read the following passage carefully and answer the given questions.

Wrist watches were developed in the 17th century from spring-powered clocks, which appeared as early as the 14th century. During most of its
history the watch was a mechanical device, driven by clockwork, powered by winding a mainspring, and keeping time with an oscillating balance
wheel. These are called mechanical watches. In the 1960s the electronic quartz watch was invented, which was powered by a battery and kept
time with a vibrating quartz crystal. By the 1980s the quartz watch had taken over most of the market from the mechanical watch. Historically,
this is called the quartz revolution (also known as quartz crisis in Swiss). Developments in the 2010s include smartwatches, which are elaborate
computer-like electronic devices designed to be worn on a wrist. They generally incorporate timekeeping functions, but these are only a small
subset of the smartwatch's facilities.

In general, modern watches often display the day, date, month, and year. For mechanical watches, various extra features called "complications",



such as moon-phase displays and the different types of tourbillons, are sometimes included. Most electronic quartz watches, on the other hand,
include time-related features such as timers, chronographs and alarm functions. Furthermore, some modern watches (like smart watches) even
incorporate calculators, GPS and Bluetooth technology or have heart-rate monitoring capabilities, and some of them use radio clock technology
to regularly correct the time.

Sub questions

Question Number : 156 Question Id : 967947965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the first electronic quartz watch invented in?
Options :

1. % 1980

2. % 1960

3. % 2010

4. % 1430

Question Number : 157 Question Id : 967947966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what is the meaning of 'complications'?
Options :

1. # Battery powered

2. # Radio clock technology

3. ¥ Moon-phase displays

4. % Chronographs

Question Number : 158 Question Id : 967947967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, the first spring powered clocks can be traced back to which century?
Options :

1. # 13th CE

2. % 17th CE



3. ¥ 16th CE
4. % 14th CE

Question Number : 159 Question Id : 967947968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is incorrect? Choose one option.

A. Most electronic quartz watches include time-related features such as timers, chronographs and alarm functions.

B. Smart watches incorporate calculators, GPS and Bluetooth technology or have heart-rate monitoring capabilities, and all of them use radio
clock technology to regularly correct the time.

C. By the 1960s the quartz watch had taken over most of the market from the mechanical watch.

Options :

1. # Bonly
2.9 B&C
3.% A&C

4, % All are incorrect.

Question Number : 160 Question Id : 967947969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is correct? Choose one option.

A. During most of its history the watch was a mechanical device.

B. By the 1980s the quartz took over most of the market from the mechanical watch, this is called the quartz revolution (also known as quartz
crisis in Swiss).

C. Mechanical watches were driven by clockwork, powered by winding a mainspring, and keeping time with an oscillating balance wheel.
Options :

1. % A only

2.% A&C

3. B&C

4. % All are correct.

Question Id : 967947964 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No



Question Numbers : (156 to 160)
Read the following passage carefully and answer the given questions.

Wrist watches were developed in the 17th century from spring-powered clocks, which appeared as early as the 14th century. During most of its
history the watch was a mechanical device, driven by clockwork, powered by winding a mainspring, and keeping time with an oscillating balance
wheel. These are called mechanical watches. In the 1960s the electronic quartz watch was invented, which was powered by a battery and kept
time with a vibrating quartz crystal. By the 1980s the quartz watch had taken over most of the market from the mechanical watch. Historically,
this is called the quartz revolution (also known as quartz crisis in Swiss). Developments in the 2010s include smartwatches, which are elaborate
computer-like electronic devices designed to be worn on a wrist. They generally incorporate timekeeping functions, but these are only a small
subset of the smartwatch's facilities.

In general, modern watches often display the day, date, month, and year. For mechanical watches, various extra features called "complications",
such as moon-phase displays and the different types of tourbillons, are sometimes included. Most electronic quartz watches, on the other hand,
include time-related features such as timers, chronographs and alarm functions. Furthermore, some modern watches (like smart watches) even
incorporate calculators, GPS and Bluetooth technology or have heart-rate monitoring capabilities, and some of them use radio clock technology
to regularly correct the time.

Sub questions

Question Number : 156 Question Id : 967947965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the first electronic quartz watch invented in?
Options :

1. * 1980

2. % 1960

3. % 2010

4. % 1430

Question Number : 157 Question Id : 967947966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what is the meaning of 'complications'?
Options :

1. #* Battery powered

2. # Radio clock technology



3. % Moon-phase displays
4. ¥ Chronographs

Question Number : 158 Question Id : 967947967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, the first spring powered clocks can be traced back to which century?
Options :

1. % 13th CE

2. % 17th CE

3. # 16th CE

4. ¥ 14th CE

Question Number : 159 Question Id : 967947968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is incorrect? Choose one option.

A. Most electronic quartz watches include time-related features such as timers, chronographs and alarm functions.

B. Smart watches incorporate calculators, GPS and Bluetooth technology or have heart-rate monitoring capabilities, and all of them use radio
clock technology to regularly correct the time.

C. By the 1960s the quartz watch had taken over most of the market from the mechanical watch.

Options :

1. # Bonly
2.9 B&C
3.% A&C

4, % All are incorrect.

Question Number : 160 Question Id : 967947969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is correct? Choose one option.

A. During most of its history the watch was a mechanical device.



B. By the 1980s the quartz took over most of the market from the mechanical watch, this is called the quartz revolution (also known as quartz
crisis in Swiss).
C. Mechanical watches were driven by clockwork, powered by winding a mainspring, and keeping time with an oscillating balance wheel.

Options :

1. * A only

2. % A&C

3. B&C

4. ¥ All are correct.
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Question Number : 161 Question Id : 967947970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy &, IR eedl 7 3 39 fadcu o1 9g7 &3 & feu 71 TfY - fade W & el T 1 by 71
g + 3fSifer

Options :

1. ¢ QoS

2. % guieTalt

3. % qU3{oTal
4. % QEIoffel

Question Number : 161 Question Id : 967947970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy d, IR el 7 @ 39 fad e o1 97 &3 o feu e TfY - fawse We & U8l Tt &1 Rpeu 71
T + 3fSffel

Options :

1. ¢ quisIfer
2. % qEioldil

3. % qu3{oTal
4, % qOISIQl

Question Number : 162 Question Id : 967947971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFffed Uy &, IR eedl 7 A 39 9 ey o1 997 B3 Ol oUW Yo & Iet Y- fade o1 a7




qled

Options :

1. ® g5 + 491"
2. % g +84d
3. % gl +8d
4. ¥ g + gy

Question Number : 162 Question Id : 967947971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy §, IR oweal 7 @ 39 faw e o1 g7 &3¢ S foT U Yo & gt Y- fawse o1 faweu 81
[ASIRES]

Options :

1. ® go + 41
2. % gWT+8d
3. % gl +38d
4. ¢ g +Ylgd

Question Number : 163 Question Id : 967947972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eedl 7 A 39 fadcu o1 97 &3 ot feu 71 TfY - fade Weg & el T &1 ey 71
ad + fed

Options :
1. % e
2. % degd
3. ¢ digd
4. % qdid



Question Number : 163 Question Id : 967947972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy §, IR el 7 @ 39 fawcu o1 g7 &% o feu 1 TfY - fawse We & U8l TfY &1 Ripeu 71
adq + fed

Options :
1. ® qfed
2. % ded
3. ¢ digd
4. % qUd

Question Number : 164 Question Id : 967947973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafiRad oy o, IR faw el § 3 39 f9dhed &1 997 3 S doid Teg &1 Ul [adhed g1
Options :

1. 3ifef

2. % gt

3. % O

4. % 91

Question Number : 164 Question Id : 967947973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied us o, IR fadwetl O 9 39 fadhed &1 997 B Sl T sg 1 ol fddbed gl
Options :

1. ¥ 3ifef

2. % greft

3. % Urg

4. % 90




Question Number : 165 Question Id : 967947974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafad vy 8, IR fawed & & 39 fawen &1 79 o S fadzh 2rss &1 98! fawea g |
Options :

1. % gl

2. %499

3. % HIYT

4. 3T

Question Number : 165 Question Id : 967947974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFraffed oy 8 9R el § & 39 fad ey o1 9g- &3 i f3ewh Weg &1 JE e g1
Options :

1. % TSt

2. % 4d

3. % HIYT

4.« 3T

Question Number : 166 Question Id : 967947975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaied vy o, 9R fawed! # ¥ 39 fadhed &1 99+ &< ol [GU T g & for we fed] 99 & faug &1 98 fawea 5
RIGIC

Options :

1. % Td 4 B IHYE

2. ¥ T[d 3eq] DI AR
3. % Y HEH Bl Ad



4. % 37q fel 1 A

Question Number : 166 Question Id : 967947975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue o, TR fawet § ¥ 39 fawey &1 wom &L S fou 78 Wsg & for U} fgv v & favrg &1 uel fawea g |
RG]

Options :

1. % Tq I B qI8

2. ¥ T[d 3fsq] Bl YHABR
3. % I HeH Bl Ad
4. % gafeai w1 od

Question Number : 167 Question Id : 967947976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRed Uy &, IR fawedl & O 39 fadhed &1 I8 H1 off ST § - NG BT ol fadhed g
Options :

1. ¢ FeRPHEAR

2. % YT

3. % gl

4. % Aifqa

Question Number : 167 Question Id : 967947976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i Uy &, IR fadcd § ¥ 39 fadh ey &1 994 $1 ol SUT 4 4 Vg BT Te! fddbey 2

Options :

1. ¢ fRPHAR
2. % YT




3. % gyl
4. % Afaw!

Question Number : 168 Question Id : 967947977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofiad uy & IR foeedl & T 39 ey &1 707 B SUaT T 59 e BT et by g
Options :

1. % RIdd

2. % 3ddR

3.¢ gal

4. % fquy

Question Number : 168 Question Id : 967947977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed gy o, IR fawed! & 9 39 fdaed &1 997 &< SiuQd ¥ 84 Xeg &1 Fol [ddhed 5
Options :

1. ® RIdd

2. % 3ddR

3. ¢ @l

4. % fauy

Question Number : 169 Question Id : 967947978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fawedl & 9, 39 fawed &1 999 &3 ol 7egd I3y dTadh Ja-TH &1 9ed 33T fadhed g |
Options :

1. % gIPI
2. ¢ AR
3. % DI




4. ® TP

Question Number : 169 Question Id : 967947978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & IR fawed § 9, 39 fadwed &1 98 & off HEH I3y arad Ga-T4 &1 9ey 35T fadhed 7
Options :

1. % TIPI

2. ¢ TAR

3. % QY&P]

4, % AR

Question Number : 170 Question Id : 967947979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRofifed gy &, IR ol & @ 39 fadb ey &1 99 &3 Wl faT TN Wee &1 et Iy 2sg B

deh

Options :

1. % favaT

2. % 3lal

3. % iy

4. % T/ By

Question Number : 170 Question Id : 967947979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed vy 3, IR ol § 9 39 fdb ey &1 98 &3 o) 3T 77U Xec &1 I8! fadH Tst B

deéh
Options :

1. % fava1




2. % 3T
3, % YT
4. A/ B

Question Number : 171 Question Id : 967947980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foiad Uy & IR foeel & T 39 ey &1 7o 31 o feU TN e, 1 I8! v vss B

EEll

Options :

1.+ U

2. % T HIY
3. % ol

4. % I

Question Number : 171 Question Id : 967947980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed uy §, IR el § 9 39 fah ey &1 9g7 & o feT TN Yeg &1 It vafgar Tee 8|

BEll

Options :

1.¥ 07

2. % A HIF
3. % ol

4. % T

Question Number : 172 Question Id : 967947981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy o, aR fowedl & T 39 fawed &1 99 &3 off fAU T8 Wsg-gH & Tt 3 &1 fadwed g |




3T -3
Options :
1. % 3, 3t
2. % 3{}, Ugel
3. % Ugdl, 34l
4. 35, ggcll

Question Number : 172 Question Id : 967947981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, TR faweul # 9 39 fadhed &1 7o & S fou U Wse-g & Ha! o &1 fadhed 5|

31l -3Te]
Options :
1. % 3, 37t
2. % 3t ugan
3. % Uga, 3t
4.« 3], Ugdl

Question Number : 173 Question Id : 967947982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawed § 3 39 fawed &1 94 &3 off U U Weg-gH & Tal 3 &1 fawed |
3f¥He-3tfa

Options :

1. ¢ IHPR, T8

2. % M, AMAR

3. % GM®HR, A
4. % I, o




Question Number : 173 Question Id : 967947982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & ar fawed § O 39 fawed &1 94 &3 off U U Weg-gH & el 37 &1 fawed g |
3fS-3ffad

Options :

1. ¢ IHPR, T8

2. % W, WMAR

3. % GM®HR, A
4. % I, o

Question Number : 174 Question Id : 967947983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy A, IR ieeal 7 @ 39 faw ey &1 gg7 o S feT 7Y arei & ot Ue Wsg &1 98! fabeu gl
§gd -t T S a1t -

Options :

1. % YToTidg

2. % AHUTSH

3. % ggyt

4.  SUTIITAG

Question Number : 174 Question Id : 967947983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR ieeal 7 3 39 fab ey &1 997 &3 o feT 7N areiey & ot Ueh Wsg &1 9el fabcu gl
§gd -HT YTHTE S a1t -

Options :

1. % YTuTfdg




2. % FAHUTS
3. % §gu!
4. ¥ SgHIVIAG

Question Number : 175 Question Id : 967947984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifad uy A, IR el 7 @ 39 faw ey &1 gg7 &3 S feT 7N arei & ot Ue Wsg &1 I8! fawbeu gl
TH gl HId 4 IS -

Options :

1. ¢ GRS
2. % guaxif

3. % gay

4. % {IHR

Question Number : 175 Question Id : 967947984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifead uy §, IR eeal 7 @ 39 fab ey o1 9g7 &3 S feT U areiy & ot Ueh Wsg &1 9e! fdbeu gl
T &l BT I & -

Options :

1. ¥ GRS
2. % goexlf

3. % a3

4. % FHR

Question Number : 176 Question Id : 967947985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, TR o & 9,39 8! faded o1 7o &3 ot Rad I & o IUged Usg &1 Ue! [dded ]




TASA G aGH  HAT @RI & Y aTHe® g
Options :

1. ¢ YA

2. % YOl

3. % gdd Xl

4. % gdcq

Question Number : 176 Question Id : 967947985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy &, TR o & 9 30 8! faded o1 7o &3 ot Rad I & o Iuged Usg &1 Ue! fdwed ]

NAHALG AT A1 WA & [ aTHEI® g
Options :

1. ¥ YHI

2. % gAAT

3. % gdd gl

4. % eq

Question Number : 177 Question Id : 967947986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad ue o, TR fawenl # ¥ 39 fadhed &1 7o B Sl Y Ve 1 I8! f[adheu 3|
Options :

1. ¢ TRId

2. % PUY

3. % Wdq

4. % {9

Question Number : 177 Question Id : 967947986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafefad vy o, TR fawenl § ¥ 39 fadhey &1 T B Sl Y Ueg &1 Ue! fadbeu 3|
Options :

1. ¢ TR

2. % U

3. % Wdq

4. % 9

Question Number : 178 Question Id : 967947987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawed § O 39 fadmed &1 98 H1 off U T8 a1 & AR a1 Ve &1 g fddbed 5|
STR1-oTg! RidTs &1 a1 §, J81-d81 hud Wd Ual gl & |

Options :

1. ¢ Oy g

2. % A AR

3. % JYId aI

4. % Jbddrad ared

Question Number : 178 Question Id : 967947987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy o, aR fowedl & T 39 faewey &1 999 &1 il foU U a1ag & 3F9R ardd ¥E &1 Ja! [dded 7
STRI-oTg! RidTS &1 a1 ¢, T61-981 hud Wd Ugl gl g |

Options :

1. ¢ Ty arey

2. % IR AT

3. % JYad ar

4. % Fhqardd dre




Question Number : 179 Question Id : 967947988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy & T 39 Awey &1 997 & oY foU 70 9160 & UBR & Ue &l Jgt b 8|
gfe qu uRyd ®Rd dl 9hd g1 Sid |

Options :

1. % Jogardas arag
2. % ggad I

3. % WA I

4. ¢ Y IR

Question Number : 179 Question Id : 967947988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad Uy & I 39 Ahey &1 997 B oY faU 70 910 & UPR & U ol Jet [Abed 5|
gfe TH gReH HRd dl W gl oird |

Options :

1. % Ydgarad ared
2. % Igod aIR

3. % A I

4. oy a1

Question Number : 180 Question Id : 967947989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad Uy & T 39 by &1 T &3 o faU 770 a1 & BT & U< ol Jgt fAbea B
gfe e uRed o giar, af U gl oird |

Options :




1. % 3 YDTd

2. ¥ BIBHG YDA
3. % Y Hidwd I
4. % U] Ufd=Iq HTd

Question Number : 180 Question Id : 967947989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad Uy & T 39 by &1 T899 &L o faU 770 a1 & BT & U ol Jgt fAbed B
gfe, g g™ fohan giar, o U 81 iid |

Options :

1. % 31 YdbTd

2. ¢ BdedHe YddId

3. % Y Hidwd I
4. % YT Yid=q BT

General Hindi2
Group Number : 10
Group Id : 96794750
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Hindi2



Section Id : 96794750

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 96794759
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 967947990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffead Uy & I 39 by &1 787 &L o faU 77T a1 & BT & U BT Jet [Abed g
T anft QR IT |

Options :

1. % 3(quf Yd Hra
2. % Y{MHY Hd dldd
3. % QU Yd BT

4. % 3 Hd pIdd

Question Number : 181 Question Id : 967947990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad Uy & T 39 by &1 T &3 o faU 770 a1 & BT & U ol Jgt fAbea B
# anft QR IBTE |

Options :
1. % 3qUf Yd HId
2. % Y{MHY Hd DIl




3. % QU Yd BT
4.« 3T Yd HTA

Question Number : 182 Question Id : 967947991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy & 9 39 fadmed &1 999 &< Sl 319 & Y 9 &1 Jg! [dbed g
Options :

1. ¢ Q9 g3 98 3= T 8l

2. ® gg faei MUl

3. % T §gd &1 3T B
4. % JEIISISI

Question Number : 182 Question Id : 967947991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed oy & 3 39 fawed &1 999 & 51l a1 & Y U $I g b g |
Options :

1. ¢ U g3 §gd 3= 71d 8l |

2. % qg et MUy

3. % T3 ¥gd T A
4. % JEIYSNS|

Question Number : 183 Question Id : 967947992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifad Uy & T 39 by &1 997 &3 o feU 770 a1 & Uel & He 1 Jat fdbeu gl
FT foar ST gt o <@ &

Options :

1. % RYIAdD




2. % IWITTNAD
3. % fQdrds
4. ¢ IATSYH

Question Number : 183 Question Id : 967947992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad Uy & T 39 Ahey &1 9= &3 o faU 770 a1 & Uel & He &1 Iat fdbeu gl
FHO fHd-T 33T g S @] |

Options :

1. % RHAdH
2. % YIS
3. % Fgarde
4. ¢ A D

Question Number : 184 Question Id : 967947993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffead Uy & I 39 Ahey &1 9= &L o faTU 77T 91 & Uel & He &1 Jet fdbeu gl

3d g1 I A 2|
Options :

1. % gradiy®
2. ¢ IREFAH
3. % WIdDH
4. % FIdEd®

Question Number : 184 Question Id : 967947993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad Uy & T 39 Ahey &1 T &3 o faU 770 a1 & Uel & He 1 Iat fdbeu gl




3§ T I AR |
Options :

1. % gdOaiy®

2. ¢ RAGADH

3. % INYdH

4. % FHIdRIa®

Question Number : 185 Question Id : 967947994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy & @ 39 fawed &1 907 &< S fqu TN a1 & gy & e &1 Ig! fdwed ]

ORT TR 1Y SR b Ty |
Options :

1. ¢ faemd

2. % RIS

3. % dpard

4. % Fagrd

Question Number : 185 Question Id : 967947994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed oy & 3 39 fawed &1 999 o 1 fau 70 a1eg & gfd & Ve &1 98! fadwe 7

ORT R 1Y SR b TferT|
Options :

1. ¢ faerd

2. % RIS

3. % b

4, % gegrd




Question Number : 186 Question Id : 967947995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed oy & 3 39 fawed &1 999 o 1 fou 70 a1eg & gfa & N &1 98! fadweu 7

SR IBT YT B |
Options :

1. % gryraed

2. % Yopard

3. ¢ 331

4. % faemdf

Question Number : 186 Question Id : 967947995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy & @ 39 fawed &1 9g7 &< 5l fqu TN a1 & gy & Ve &1 Ig! fdwed ]

SR JIBT YT B |
Options :

1. % geTaTd

2. % Jopard

3. ¢ T/

4. % faegd

Question Number : 187 Question Id : 967947996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRed oy & IR fawedl § ¥ 39 fadhed &1 7o &1 off fov™ g gad a1ed &1 et fawed g |
Options :

1. % <Tg1,51 : U1 B 51 gl HebdT|

2. ¢ =T8I, g1, TH1 i 81 81 Tl

3. % 751, 181 U1 it T8l B wehan|




4, % g1, e U ol e 8l ghdl

Question Number : 187 Question Id : 967947996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed oy & TR fawedl § ¥ 39 fadwed &1 7 &1 off fov™ fg gad e &1 et fawed |
Options :

1. % ET 7Y T e &) Tehan

2. ¢ o, Tol, U1 HHI ol 8l Tobd|

3. % =g, 78t U1 i ) | h|

4. % g1, T T w781 81 Wepdn

Question Number : 188 Question Id : 967947997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawedl § 9 3 fadhed &1 78 &1 off v g gad a1ed &1 9! fased g |
Options :

1. % UCRAl & BRI : 91 - UgHU 3R &af - TGNl §¢ 38T §

2. ¢ TG} & HRUI IR USHUT 3R i Tguul §¢ @1 3|

3. % UeRdl & BRI - 91g - UHUT, 3fR &af - gyl §¢ 8T 7 |

4. % TCRAl & HRUI AR - UHUT, 3R &3 - UgWUl ¢ T & |

Question Number : 188 Question Id : 967947997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy , aR fowedl & T 39 faswey &1 999 &3 ol faRm g gad areg &1 98l fasea 3|
Options :

1. % Uerdl & HRUT : 91 - UGHUT 3R e - U0l 96 8T 8

2. ¢ UCTE! & HRUT a1 UGN 3R ¢34 UguUr ¢ @& |

3. % UGl & HRUT - I - UGHUT, 3R €af - Ugyur ¢ W& |

4. % UCTAl & HRUI AR - UGHUT, 3R a1 - TgHUI 9¢ T & |




Question Number : 189 Question Id : 967947998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRed Uy &, IR fawedl § 9 3 fadhed &1 98 H< off v g gad a1ed &1 ¥e! faded ¢ |
Options :

1. ¢ WRd A T, "q 9 31 Iy WRT I g 1

2. % WRA A BT g I I 31 o9 WRT 8 g 1"

3. % YR 7 BT, T IH 3P I ART RN B

4. % AT A Fel, "I I 31 5T WRT TR 5

Question Number : 189 Question Id : 967947998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy o, TR fawenl § ¥ 39 fawe &1 799 & 5t favw fug gad a9 &1 98l fawe ]
Options :

1. ¢ U A gl "I I I HfYH Iod TIRT TR g "

2. % IRA A BT G IH I 3 o9 IRT 81 g 1"

3. % YR A e, "I A F 3T I WRT RN B

4. % A\RI A HEI, T IH F 3H I WRT a1 B

Question Number : 190 Question Id : 967947999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed Uy & aR fawedl § O 39 fadmed &1 9 &< off fU T8 Tk &1 et o aran fawed g |
SfafSal § 9d TS

Options :

1. ¥ §9d - 39 Ue gl

2. % I HRAT

3. % 3{UETHd HIAT




4. % Sgd AT HRAT

Question Number : 190 Question Id : 967947999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed gy o, IR fawed! & 9 39 [daed &1 99+ &< off faU T4 ggraR &1 95! o ara fawed 5
3fafear @ ¥ TSI

Options :

1. ¥ B9 - 8d U< gl

2. % 3T HAT

3. % 3OHTHT DAl

4. % §gd U HAT

Question Number : 191 Question Id : 9679471000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

75 fasbed! o ¥ 39 [dded &1 997 &< ol faT 71U Ygrak &1 It 31 aren fawed 5|

UF g dhal § gl
Options :

1. % gD Y &1

2. ¢ 3-gR DI UG - Bl
3. % Ut 1 TH ST BT

4. % 3Dl T Thdl

Question Number : 191 Question Id : 9679471000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famedl o @ 39 faded &1 99- &3 Sl 73T T4 GeTar &1 Ta! o arar fadwed §
U &) A gl I gie-




Options :

1. ® BT 4 &1

2. ¥ 3R P UG - Bl
3. % gt BT TP ST AT

4, % 3PSl T Uhd

Question Number : 192 Question Id : 9679471001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 fawedl o @ 39 faded &1 99- &3 Sl 73T T4 GeTar &1 Ta! o arar fadwe §

Pl DT AT IdTd-
Options :

1. % it AR 9 Gl
2. % T P Qi+ e

3. ¥ SIDHY HFT I

4. & HIC SR

Question Number : 192 Question Id : 9679471001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famedl o 0 39 faded &1 99 &< Sl 14T T4 GeTar &1 Jg! o arar fadwed g

Fal BT AT 39Td-
Options :

1. % guft WYHR 9 &
2. % T &l i~ e

3. ® SIHX HIT S

4. & HIC SR

Question Number : 193 Question Id : 9679471002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

g faedl & ¥ 39 fAhey 1 7= &3 o foTU U Apifad &1 aat 3if aretn faweu g1
Ug BRE! §d dd, I8 o8 $axd bl dd

Options :

1. ¢ YR IR fdd gRT T8 BT HR & g [qa=1 g1
2. % OH W $S o] BTl

3. % g O T S

4. % S GERM

Question Number : 193 Question Id : 9679471002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faopeal # O 39 [Aheu o1 g &3 o fou U diepifad &1 Tel i arar ey g
U¢ BRY! 9 1, I8 48 Haxd H Wd

Options :

1. ¢ AR A fekd GRT e BRI B o fod [aa=T g
2. % O TR S ol Herdr

3. % g § T S

4, % XY I

Question Number : 194 Question Id : 9679471003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faedl & ¥ 39 fAhey o1 T &3 o feT U Apifad &1 Tat 3if arett faweu g1
T PR R T

Options :
1. ® IUTY Iat 33T ol PRIR Bl

2. % gl To! U1 BT
3. ¥ 3G 1 UM BT




4. % T B AR HIAT

Question Number : 194 Question Id : 9679471003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fapedl & T 39 fAhey 1 90 B3 SNl feU T Apifad &7 Aet 3if arelt fabeu g1
I B R T

Options :

1. % JURI dal 3BT ol HRIR B
2. % gt Yl Ui Bl

3. ¢ 3T &I U BT

4. % 7 P TFATH HAT

Question Number : 195 Question Id : 9679471004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fal & ¥ 39 fAmed &1 7= &3 o feT U Apifad &1 aet 3rf arett faweu g1

3 YA BT Hal

Options :

1. % Qe A

2. ® HHU PIs, WU Dl

3. ¥ 3= BTH BT RN 33181 &
4. ® DT AT Hd

Question Number : 195 Question Id : 9679471004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fapedl & T 39 fAhey 1 9= B3 ol feTU T Aipifad o1 det 3if arelt fadeu g1

3 Yl BT YT




Options :

1. % Qg oY
2. % HAN DI, WY Dlg
3. ¥ 3 BT BT RN 35T ald &

4. % DT T HI

Sub-Section Number : 2
Sub-Section Id : 96794760
Question Shuffling Allowed : Yes

Question Id : 9679471005 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No
Question Numbers : (196 to 200)

frafafad MY & ergae ufeu iR fau 7T usi & IR i

OIS A SITCH T, AN ST, 3 ARG B1 oexd AT | 3! Sfia- & o forg g 9gd e U1 31 d | dal 39 3f%d U gid it 9,
IR ARGA & §1G 1 3] R Y71 3 a1 3 ST USdT AT, ARG 39 (o8 3a=des 371 47| bR &R iR 98 310+ 31 1 a1gr o1 axgafi
BT SR T T IR P ol 3R US &1 ST 19 H a1 @ | 77T 3R +ff 3 91671 39 o1 & 8RR 91 | iS5 Uy diR & 8Ra
3R T 3, 9 faorht gu | S i 9T 79 &R WS 316 UeH-H TR HRIT dh 3T o1 3R 9 UST 8 | TR I g 31d +f 56 -
g1 o 1} U AI8 1 I iR arel o I diferd el X a1 ¢ | ord off a8 I1G faa St © o G -G & Yo el off Wbl | gH
I8! G a4 Ugd & ¥ araarat siid al, U] & 91y T &1 Jde WR faeaR- aral 3R 9=+ a1 |

Sub questions

Question Number : 196 Question Id : 9679471006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS DT ARG Rl St &

Options :

1. % YR I & forw

2. % 3ol T Y o & oy

3. % STforal ol YR&Mm & ferw

4. ¢ Sig= & & forg

Question Number : 197 Question Id : 9679471007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

FS JAY 91 T 5 a1gt dielt &1 TgrRT o @
Options :

1. ¥ TR & ¢dl  US & STal BT

2. % GRR & §d 9 981 B S| Bl

3. % :mg;rﬁaﬁsfﬁtrrﬁar

4. % IR & I J 59 gFAARI &1

Question Number : 198 Question Id : 9679471008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT (e forg TR HRIT R 3 &1 SR Id UST 82
Options :

1. % TRAUA RAR R

2. ¥ UCHTH TR

3. % g9 W

4. % ARG BT

Question Number : 199 Question Id : 9679471009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui T &1 B ¥ 3R J dferd el v & 82
Options :

1. % a9

2. % dd

3. % g4

4. -9

Question Number : 200 Question Id : 9679471010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gD A A DI HHT Sitd ST 62
Options :

1. % g HA ardT oiig

2. ® WRoltg! oitd

3. % Tgy A gTaT ofig

4. TECAGA] Sid

Question Id : 9679471005 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

frafafad e & ey ufeu iR fau 7T usi & IR i

TS AT STl T, GTHTY oI, S ARG &1 oo 2t | ST SiiaH & & oy TRgH 9gd el U1 39 H aal 39 31=d A1 g 1 9,
R ARG & d1G 81 ST VI 7| 3 T I8 ST USdl AT, ARG ¥ ol 3a=ges 37 7| fihr iR 4R 98 30 311 9 §1eR i agsii
BT ERT T T IR P ol 3R US 1 ST H1H H a1 &l | AT 3R Hf o 9671 39 o1 & SRR 91 | S Uy iR & 8Ra
3R IR U, T faorht gU /| Sfas™ o §¢TI 79 &R A 3§ UeH-IH TR HRINT FHRap 3 HI 3R Id UST g | R 3P g o off 95 38
g1 3@ 1} Ul A8 1 I HiaR arel o W diferd -Te1 X a1 ¢ | 3rd off a5 I1g fael St © o qree =TI & Yo el off Wbl | qH
I8! G I Ugd o Thcaraaiat oid al, U] & 91y T & Jdg WR fder- arel 3R ==+ a1 |

Sub questions

Question Number : 196 Question Id : 9679471006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS &1 ARG I STt A2
Options :

1. % I"G IAH & forg

2. % 3ferdl bl Yax 9 & ferg
3. % SIferdl Bl YR&M & forg

4. ¢ Siig- & & forg

Question Number : 197 Question Id : 9679471007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



DS JHY d1G AW {1 S8Rt <ol BT R o o
Options :

1. ¥ TR & ¢l 9 US &l STell Bl

2. % URR & 91 d & D1 STl Bl

3. % A1 9 94 Rl &1

4. % JHRI & aldl ¥ 99 SRS BT

Question Number : 198 Question Id : 9679471008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 39 ford TR HRIT R 3 T SR Id UST g2
Options :

1. % TRANT RAR R

2. ¥ UCHIH TR

Question Number : 199 Question Id : 9679471009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui T &1 B A 3R F dferd el = 8 82
Options :

1. % a9

2. % dd

3. % g4

4. -9

Question Number : 200 Question Id : 9679471010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CRa® - A B B4l Si1d ST 87
Options :




1. % g B drell Sffd
2. % TRl g
3. % YUY A ara oig

4.« qGAdAH! Oig




